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REASONING ABILITY

DIRECTIONS (Qs. 1-5) : Study the following information
carefully and answer the questions given below :

Eight students i.e. D, Q, G, H, K, S, E and W are sitting around a
square table in such a way that four students sit at the corner
side of the table and other four students sit in the middle side of
the table. The students who sit at the corner side are facing
away from the center and the students who sit in the middle side
are facing towards the center. D sits at the corner side of the
table. One student sits between D and K. Q sits third to the right
of K. Three students sit between Q and E. S sits second to the
right of E. S is not an immediate neighbour of D. H sits second to
the right of G.
1. Who among the following are the immediate neighbours

to each other?
(a) G, E
(b) Q, H
(c) K, H
(d) W, K
(e) None of these

2. Who among the following sits third to the right of K?
(a) D (b) G
(c) H (d) H
(e) None of these

3. Who among the following sits second to the right of W?
(a) Q (b) E
(c) D (d) S
(e) None of these

4. Four of the following five are alike in a certain way and
hence from a group. Find the one who does not belong to
that group?
(a) E (b) D
(c) K (d) G
(e) H

5. How many students sit between W and S when counted
form the left of S?
(a) Three (b) Four
(c) One (d) Two
(e) None of these

DIRECTIONS (Qs. 6-9) : Study the following sequence of
numbers and alphabets and answer the given questions :

M 2 R A Y 7 6 F 9 1 S E 5 2 O 3 5 7 1 B 6 L G P
6. If all the consonants are removed from the given series,

then which among the following element is ninth from the
left side?
(a) 2 (b) O (c) 3 (d) 7
(e) None of these

7. Which among the following element is fifth to the left of
twelfth element from the left end?
(a) F (b) 6 (c) 9 (d) 1
(e) None of these

8. If all the numbers are removed from the given series, then
which among the following element is seventh from the
right end?
(a) E (b) O
(c) F (d) S
(e) None of these

9. How many numbers are there which are immediately
preceded by a vowel?
(a) One (b) None
(c) Two (d) Three
(e) None of these

DIRECTIONS (Qs. 10-12) : Study the following information
carefully and answer the questions given below :

Five men A, B, C, D and E have different heights. Less than two
men are shorter than A. As many men are taller than A as shorter
than B. D is taller than C but shorter than E. C is not the shortest
man. The height of third tallest man is 97 cm.
10. If the height of shortest man is 57 cm, then what may be

the hieght of C?
(a) 67 cm (b) 85 cm
(c) 77 cm (d) All the given heights
(e) None of these

11. How many men are taller than B?
(a) None (b) One
(c) Two (d) Three
(e) None of these

12. Who among the following is just shorter than E?
(a) None (b) B
(c) D (d) A
(e) None of these
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DIRECTIONS (Qs. 13-16) : In each of the questions below are
given some statements followed by some conclusions. You have
to take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts. Answer the given questions :

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

13. Statements : All Love are Sweet. No Sweet are Hate.
Conclusions :
I. No Love are Hate.
II. Some Love are Hate.

14. Statements : All Copy are Paper. Only a few Paper are
Black. No Black are White.
Conclusions :
I. Some Paper are not Black.
II. Some Paper are not White.

15. Statements : Only a few Banana are Mango. All Mango is
Fruits. Only a few Fruits are Sour.
Conclusions :
I. Some Mango is not Sour.
II. No Banana are Fruits.

16. Statements : All Bikes are Cars. Only a few Cars are Trains.
No Trains are Aeroplane.
Conclusions :
I. All Aeroplane can never be Cars.
II. Some Bikes can be Trains.

DIRECTIONS (Qs. 17-21) : Study the following information
carefully and answer the questions given below :
Some persons A, B, C, D, E, F and G are sitting in row and all are
facing towards north but not necessarily in the same order. B
sits second from one of the extreme ends. Three persons sit
between E and B. Two persons sit between E and F. D sits to the
immediate left of F. A sits to left of D but is not an immediate
neighbour of D. More than two persons sit between A and C.
17. How many persons sit to the left of D?

(a) Two
(b) None
(c) One
(d) Three
(e) None of these

18. Who among the following sits third to the left of F?
(a) C (b) D
(c) B (d) A
(e) None of these

19. Who among the following persons sit at the extreme ends?
(a) F, A (b) F, C
(c) G, C (d) A, C
(e) None of these

20. How many persons sit between E and C?
(a) Two (b) Four
(c) Three (d) One
(e) None of these

21. Who among the following sits to the immediate left of B?
(a) G (b) F
(c) C (d) E
(e) None of these

DIRECTIONS (Qs. 22-23) : Study the following information
carefully and answer the questions given below :
Point S is 15 m north of point T.  Point R is 19 m east of point S.
Point Q is 13 m north of point R. Point P is 25 m west of point Q.
Point O is 13 m south of point P.
22. What is the shortest distance between point O and point

S?
(a) 13 m (b) 11 m
(c) 9 m (d) 15 m
(e) None of these

23. In which direction is point T with respect to point Q?
(a) South east (b) North west
(c) South west (d) North east
(e) None of these

DIRECTIONS (Qs. 24-27) : Study the following information
carefully and answer the questions given below :
There are certain number of persons sitting in a row facing
towards north direction. P sits fifth to the right of Q. Two persons
sit between R and Q. S sits fourth to the left of R. Four persons
sit to the left of S. The number of persons sit between S and Q is
same as the number of persons sit between Q and T. T sits at
fourth position from one of the extreme ends.
24. How many persons sit between Q and S?

(a) None (b) Six
(c) Five (d) Four
(e) None of these

25. How many persons sit in the row?
(a) Twenty (b) Twenty-one
(c) Twenty-two (d) Nineteen
(e) None of these

26. Who among the following sits fourth to the right of S?
(a) None (b) R
(c) Q (d) T
(e) None of these

27. How many persons sit to the left of R?
(a) Nine (b) Ten
(c) Eight (d) Eleven
(e) None of these

28. How many such pairs of letters are there in the meaningful
word ‘ENGLISH’ each of which has as many letters between
them in the word as in the English alphabet (From both
backward and forward)?
(a) One (b) Two
(c) More than three (d) Three
(e) None of these
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DIRECTIONS (Qs. 29-33) : Study the following sequence
carefully and answer the given questions :

SOW    FOT    PEA     GOW    IMY
29. If we add ‘L’ after first letter in every word, then how many

meaningful words will be formed?
(a) None (b) Three
(c) Two (d) More than three
(e) None of these

30. If third letter of each word is replaced by its succeeding
letter according to English alphabetical order, then in how
many words vowels will appear more than once?
(a) Two (b) One
(c) None (d) Three
(e) None of these

31. If all the words are arranged according to English
alphabetical order from left to right, then which word will
appear fourth from the left end?
(a) IMY (b) GOW
(c) PEA (d) FOT
(e) None of these

32. If all the letters are arranged according to English
alphabetical order within each word, then in how many
words vowel will appear at second position?
(a) One (b) None
(c) Two (d) Three
(e) None of these

33. How many letters are there in English alphabetical series
between the first letter of the second word from the left
end and third letter of the third word from the right end?
(a) Five (b) Six
(c) Seven (d) Four
(e) None of these

34. If in the number ‘45327968’, 1 is added to each even digit
and 2 is subtracted from each odd digit, then which digits
will not appear twice in the number thus obtained?
(a) Only 1 (b) Only 9
(c) Both ‘1’ and ‘9’ (d) Only 5
(e) None of these

DIRECTIONS (Qs. 35-40) : Study the following information
carefully and answer the questions given below :
Six people Shivam, Sohit, Nikhil, Gaurav, Rahul and Ketan have
events on different dates 7th and 12th of different months i.e.
January, February and March. Gaurav has event on even
numbered date in the month having 31 days. The number of
persons have event before Gaurav is same as the number of
persons have event after Shivam. One person has event between
Shivam and Nikhil. Ketan has event before Nikhil. Sohit has
even just before Rahul.
35. How many persons have event between Ketan and

Gaurav?
(a) One (b) Three
(c) None (d) Two
(e) None of these

36. Rahul has event on which among the following date?
(a) 12th February (b) 12th March
(c) 7th March (d) 7th January
(e) None of these

37. Four of the following five are alike in a certain way and
hence from a group. Which is the one that does not belong
to that group?
(a) Shivam, Ketan (b) Rahul, Ketan
(c) Ketan, Nikhil (d) Rahul, Sohit
(e) Nikhil, Sohit

38. How many persons have event before Sohit?
(a) Two (b) None
(c) Three (d) One
(e) None of these

39. Who among the following has event just after Gaurav?
(a) Nikhil (b) None
(c) Sohit (d) Ketan
(e) None of these

40. Four of the following five are alike in a certain way and
hence form a group. Which is the one that does not belong
to that group?
(a) Shivam, Nikhil, Gaurav (b) Sohit, Rahul, Gaurav
(c) Nikhil, Sohit, Rahul (d) Ketan, Nikhil, Sohit
(e) Shivam, Ketan, Nikhil

NUMERICAL ABILITY

DIRECTIONS (Qs. 41-45) : Line graph given below shows
number of passengers travelling in five (C1, C2, C3, C4 and C5)
different compartment of a Rajdhani Express Train. Read the
data carefully and answer the questions.

C1 C2 C3 C4 C5

80

70

60

50

40

30

20

10

0

41. Total passengers in C5 are what percent less than total
passengers in C1?

(a)
1

6 %
4

(b)
1

8 %
3

(c)
1

6 %
3

(d)
2

6 %
3

(e) 5%
42. Find average number of passengers in C1, C3 and C5?

(a) 64 (b) 60
(c) 72 (d) 66
(e) 54
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43. Find the ratio of total passenger in C2 to that of in C4?
(a) 7 : 9 (b) 3 : 10
(c) 11 : 9 (d) 10 : 3
(e) 9 : 11

44. Total passenger in C3 and C5 together are what percent
more than total passenger in C1?

(a)
1

33 %
3

(b)
2

66 %
3

(c)
1

66 %
3

(d)
2

33 %
3

(e) 40%
45. Find total number of passengers travelling in C2, C3 and

C4 together?
(a) 138 (b) 130
(c) 134 (d) 126
(e) 142

DIRECTIONS (Qs. 46-50) : What will come in the place of
question mark (?) in the following questions :

46. 6, 12, 48, ?, 2304
(a) 356 (b) 288
(c) 284 (d) 238
(e) 311

47. 9, 10.7, 14.1, 20.9, 34.5, ?
(a) 69.8 (b) 62.8
(c) 63.8 (d) 60.8
(e) 61.7

48. 8, 5, 6, 10, ?, 53.5
(a) 58 (b) 21
(c) 50 (d) 57.5
(e) 56.5

49. 64, 71, 57, 85, ?, 141
(a) 137 (b) 127
(c) 153 (d) 29
(e) 139

50. 7, 7, 15, 46, 185, ?
(a) 973 (b) 926
(c) 1010 (d) 1121
(e) 1158

51. If the difference between the present age of Puneet and
Kapil is three years and the ratio between the age of Puneet
and Kapil after two years will be 7 : 6, then find the age of
Puneet after two years (in years)?
(a) 21 (b) 24
(c) 11 (d) 16
(e) 23

52. Dipak and Shivam both spend 40% of their income together
which is equal to ̀  1,26,00. If income of Dipak is 25% more
than that of Shivam, then find the income of Shivam (in `).
(a) 18,000 (b) 19,000
(c) 14,000 (d) 20,000
(e) 16,000

53. If Sohit invests equal sum at the same rate of interest on
simple interest for T and T + 5 years and the respective
ratio of interest gets by Sohit is 2 : 3 respectively, then find
'T'?
(a) 6 (b) 7
(c) 8 (d) 3
(e) 10

54. 12 women can complete a work in 32 days, then find how
many women will be required to complete 1/3rd of the same
work in 8 days?
(a) 14 (b) 12 (c) 18 (d) 16
(e) 24

55. A train running at the speed of 54 kmph crosses a pole in
30 seconds. Find the time taken by the same train to cross
the pole with the speed of 90 kmph? (in sec.)
(a) 23 (b) 22
(c) 18 (d) 17
(e) 20

56. The upstream speed and downstream speed of a boat is
15 kmph and 28 kmph respectively and boat travelled for
T hours and 3 hours in upstream and downstream
respectively. If the distance travelled in downstream is 39
km more than upstream, then find the value of 'T'.
(a) 4 (b) 3
(c) 2 (d) 5
(e) 1

57. An article was marked up by 70% above cost price and
allowed ̀  40 discount on marked price. If shopkeeper still
made a profit of ` 100, then find the selling price of the
article (in `).
(a) ` 315 (b) ` 300
(c) ` 250 (d) ` 275
(e) ` 150

58. Amit and Rahul invested ` a and ` (a + 400) for same
period of time in a business. If Amit gets ̀  1600 as profit
share out of total profit of ̀  3400, then find 'a'.
(a) 3500 (b) 3000
(c) 4500 (d) 3600
(e) 3200

59. A vessel contains mixture of milk and water in the ration of
5 : 2 respectively. If 35 liters mixture taken out from the
vessel and now the difference between milk and water in
the remaining mixture is 60 liters, then find initial mixture in
vessel (in liters)?
(a) 70 (b) 105
(c) 100 (d) 80
(e) 125

60. Perimeter of a rectangle is 4 cm more than circumference of
a circle and area of circle is 154 cm2. If breadth of rectangle
is equal to radius of circle, then find length of rectangle
(in cm).
(a) 23 (b) 33
(c) 17 (d) 21
(e) 27
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DIRECTIONS (Qs. 61-65) : Table given below shows number
of orders received by three (X, Y, and Z) shops of their three (A,
B and C) items. Read the data carefully and answer the
questions.

Shops A B C

X 160 120 100

Y 80 140 180

Z 160 200 60
61. Total orders of item A and B received by Z is how much

more than total orders of item B and C received by Y?
(a) 25 (b) 10 (c) 60 (d) 40
(e) 30

62. Find total orders (all three items) received by Z is what
percent more than that of total orders (all three items)
received by Y?
(a) 5% (b) 12.5%
(c) 7.5% (d) 15%
(e) 8.33%

63. Find ratio of total orders of item A and B received by X to
total orders of item B and C received by Y.
(a) 7 : 9 (b) 7 : 8
(c) 3 : 7 (d) 5 : 6
(e) 8 : 7

64. Find average number of orders of item B received by Y and
Z is what percent of total orders of item A received by X?

(a)
1

101 %
4

(b)
1

106 %
4

(c)
1108 %
4

(d)
1102 %
4

(e)
1103 %
4

65. Find total orders of item A, B and C received by X.
(a) 300 (b) 220 (c) 380 (d) 360
(e) 200

DIRECTIONS (Qs. 66-80) : What should come in place of
question mark (?) in following questions?
66. (24% of 500) ÷ 0.6 = ?

(a) 600 (b) None of these
(c) 40 (d) 500
(e) 200

67.
3 2

2
3 (17)

?
9 25 27

+
=

+ -
(a) 1 (b) 5 (c) 4 (d) 6
(e) 3

68.
2

?
4

(15)(5) 3
81

´ =

(a) 5 (b) 2
(c) 4 (d) 1
(e) None of these

69. 7 × (53 – ?) = 73

(a) 6 (b) 9
(c) 4 (d) 4
(e) None of these

70. ? + 385 – 225 = 433
(a) 384 (b) 234
(c) 224 (d) 276
(e) 273

71. 15 × 8 + (?)2 = (13)2

(a) 7 (b) 12
(c) 5 (d) 6
(e) None of these

72. (30% of 500 + ?% of 400 = 250)
(a) 22 (b) 36
(c) 35 (d) 25
(e) 20

73. 576 8 ? 270¸ = -
(a) 284 (b) 273
(c) 287 (d) 283
(e) 285

74. 441 169 784 34 ?- + = +
(a) 1 (b) 4
(c) 5 (d) 7
(e) 2

75. 117 + 19 + 8 = ?2

(a) 10 (b) 12
(c) 15 (d) 8
(e) None of these

76. 13% (? + 100) = 13
(a) 40 (b) 0
(c) 7 (d) 13
(e) 60

77.
3 729

49 ? 23
9

+ + =

(a) 19 (b) 18
(c) 15 (d) 16
(e) 23

78. 2? 900 7+ =
(a) 20 (b) 19
(c) 17 (d) 18
(e) 23

79.
1 1 1 18 6 ? 4 4
2 3 6 2

+ = + +

(a) 3 (b)
14
2

(c) 5 (d)
1

6
6

(e) 6

80. 4 6 5 ?(2 8 ) 16 2´ ¸ =
(a) 1 (b) 3
(c) 2 (d) 6
(e) 4
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Sols. (1-5) :

G S H

E

KWD

Q

1. (d)
2. (e) Q sits third to the right of K.
3. (b) E sits second to the right of W.
4. (a) All are facing outside except 'E'.
5. (a)
6. (a) After droping all the consonant, nineth letter from

left end is '2'.
7. (b) Fifth to the left of twelveth from left end = 12 – 5 = 7th

from left end.
And that is '6'.

8. (d) After droping all the numbers, the seventh letter from
right end is 'S'.

9. (a) There is only one such pair that is '2'O'.
Sols. (10-12) :

B > E > D (97) > C > A
10. (d) Height of the 'C' can be "97 > O > 57"
11. (a)
12. (c)
Sols. (13-16) :

13. (a) Sweet

Love
Hate

14. (e)

White

Paper

Copy
Black

15. (d) Fruits

Mango SourBanana

16. (b)

Aeroplane

Cars

Bikes
Trains

Sols. (17-21) :
A E G D F B C

17. (d) Three persons A, E and G are left of D.
18. (e) E is third to the left of F.
19. (d) A and C are at extreme ends of the line.
20. (b) Four persons G, D, F and B are between C and E.
21. (b) F is immediate left of B.

22. (b) P Q

RO S

T

25 m

13 m

6 m 19 m

15 m

13 m

23. (c) Point T is in south-west of point Q.

P Q

RO S

T

25 m

13 m

19 m

15 m

13 m

Sols. (24-27) :
S R Q P T

24. (b)
25. (c)
26. (b)
27. (c)
28. (c)

E   N   G   L   I   S   H

29. (b) Three meaningful words are :
SLOW, PLEA, GLOW

30. (b)
31. (c)
32. (d)
33. (d)
34. (c) 45327968

53135779



2020-7IBPS RRB Office Assistant Prelim Solved Paper - 2020

Sols. (35-40) :

Months 7th 12th
January Shivam Ketan

February Nikhil Sohit
March Rahul Gaurav

35. (b) Nikhil, Sohit and Rahul.
36. (c)
37. (b)
38. (c) Shivam, Ketan and Nikhil.
39. (b)
40. (a)
41. (b) Required percentage

72 66 6 1
100 100 8 %

72 72 3
-

= ´ = ´ =

42. (a) Required average 
72 54 66 192

64.
3 3

+ +
= = =

43. (e) Required ratio = 36 : 44 = 9 : 11.
44. (b) Total passenger in C3 and C5 = 54 + 66 = 120

Required percentage

120 72 48 2100 100 66 %.
72 72 3
-

= ´ = ´ =

45. (c) Required number of passengers = 36 + 54 + 44 = 134.
46. (b) Pattern of series -

6 × 2 = 12
12 × 4 = 48
48 × 6 = 288
288 × 8 = 2304.

47. (e) Pattern of series -
9 + 1.7 = 10.7
10.7 + 3.4 = 14.1
14.1 + 6.8 = 20.9
20.9 + 13.6 = 34.5
? = 34.5 + 27.2 = 61.7.

48. (b) Pattern of series -
8 × .5 + 1 = 5
5 × 1 + 1 = 6
6 × 1.5 + 1 = 10
? = 10 × 2 + 1 = 21
21 × 2.5 + 1 = 53.5.

49. (d) Pattern of series -
64 + 7 = 71
71 – 14 = 57
57 + 28 = 85
? = 85 – 56 = 29
29 + 112 = 141.

50. (b) Pattern of series -
7 × 1 + 1 = 7
7 × 2 + 1 = 15
15 × 3 + 1 = 46
46 × 4 + 1 = 185
185 × 5 + 1 = 926

51. (a) Let present age of Kapil = m years
So, present age of Puneet = (m + 3) years
According to the question,

2 6
7 14 6 30

( 3) 2 7
+

= Þ + = +
+ +
m

m m
m

16 yearsÞ =m
So, age of Puneet after two years
= (16 + 3) + 2 = 21 years

52. (c) Let total income of Shivam = ̀  100x
So, total income of Dipak

25
100 1 125

100
æ ö= ´ + =ç ÷è ø

x x`

According to the question,

( ) 40100 125 1,26,00
100

x x+ ´ =

40225 12,600
100

Þ ´ =x

140Þ =x `
So, income of Shivam = 140 × 100 = ̀ 14,000.

53. (e) Let sum invested by Sohit = ` x
And, rate of interest = r%
According to the question,

2 2
( 5) 3 5 3

´ ´
= Þ =

´ ´ + +
x r T T

x r T T
\ T = 10.

54. (d) Let total work = 12 × 32 = 384 units

Required women 
1 1384 16
3 8

= ´ ´ =

55. (c) Let length of train be x meters.
According to the question,

554 450 meters
18 30

´ = Þ =
x x

Required time 
450 18sec.590

18

= =
´

56. (b) According to the question,
28 × 3 – 15 ×T = 39
Þ 84 – 39 = 15T Þ T = 3.

57. (b) Let cost price of article = ̀ 100x
So, marked price of article

70
100 1 170

100
æ ö= ´ + =ç ÷è ø

x x`

And, selling price of article = `(170x – 40)
According to the question,
(170x – 40) – 100x = 100
70x = 140 Þ x = ̀ 2
So, selling price of article = (170 × 2 – 40) = ̀ 300.
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58. (e) According to the question,

1600
3200

400 (3400 1600)
a

a
a

= Þ =
+ -

59. (b) Let total initial mixture in vessel = 7x
So, milk in vessel = 5x
And water in vessel = 2x
According to the question,

5 2
5 – 35 – 2 – 35 60

7 7
x x

x x
x x

æ ö æ ö´ ´ =ç ÷ ç ÷è ø è ø

5 – 25 – (2 –10) 60x x =

3 –15 60 3 75 15x x x= Þ = Þ =
So, initial mixture in vessel = 7x = 7 × 15 = 105 liters

60. (c) Let radius of circle be 'r' cm
According to the question,

22
154

7
´ ´ =r r

r = 7 cm = breath of rectangle
Let length of rectangle be x cm.
Perimeter of rectangle = Circumference of a circle + 4

22
2(7 ) 2 7 4

7
x+ = ´ ´ +

2(7 ) 44 4x+ = +

48
7 17 cm

2
x x+ = Þ =

61. (d) Required difference = (160 + 200) – (140 + 180) = 40.
62. (a) Total orders (all three items) received by Z

= (160 + 200 + 60) = 420.
Total orders (all three items) received by y
=  (80 + 140 + 180) = 400.

Required percentage 
420 400

100 5%.
400
-

= ´ =

63. (b) Total orders of item A and B received by X
= 160 + 120 = 280
Total orders of item B and C received by Y
= 140 + 180 = 320
Required ratio = (280 : 320) = 7 : 8.

64. (b) Average number of orders of item B received by Y

and Z 
140 200

170
2
+

= =

Required percentage 
170 1

100 106 %
160 4

= ´ =

65. (c) Required sum = 160 + 120 + 100 = 380.

66. (e)
24 5

500 ? 200 ?
100 3

´ ´ = Þ =

67. (c)
27 289 316? ? ? 4

81 25 – 27 79
+

= Þ = Þ =
+

68. (b)
? ?

4
225

5 3 5 3 75
81

´ = Þ ´ =

? 25 (5) ? 2= Þ =

69. (c)
34353 – ? 53 – 49 ?

7
= Þ =

? = 4
70. (e) ? + 385 – 225 = 433

? = 433 – 160 Þ ? = 273.

71. (a) 2 2(?) 169 –120 (?) 49 ? 7.= Þ = Þ =

72. (d)
30

500 ?% of 400 250
100

´ + =

150 ?% of 400 250+ =

1?% of 400 = 100 ?%= ? 25%.
4

Þ Þ =

73. (b) 24 ÷ 8 = ? – 270
? = 3 + 270 Þ ? = 273.

74. (e) 21 – 13 + 28 = 34 + ?
49 – 13 = 34 + ? Þ ? = 36 – 34 = 2.

75. (b) ?2 = 117 + 19 + 8
(?)2 = 144 Þ ? = 12.

76. (b)
13 (? 100) 13 ? 100 100 ? 0

100
´ + = Þ = - Þ =

77. (c)
9 7 ? 23 1 7 ? 23 ? 15.
9

+ + = Þ + + = Þ =

78. (b) ? + 30 = 49 Þ ? = 19.

79. (d)
1 1 1 18 6 – 4 – 4 ?
2 3 6 2

+ =

1 1 1 1
? 8 6 – 4 – 4 – –

2 3 6 2
æ ö= + +ç ÷è ø

3 2 –1– 3 1
? 6 ? 6 .

6 6
+æ ö= Þ =ç ÷è ø

80. (c)
4 6 3

?
5 4

2 2
2

2

´

´
´

=

? 4 18 20 ? 22 2 2 2+ -= Þ =

? 2.\ =



REASONING ABILITY

DIRECTIONS (Qs. 1-5) : Study the following information
carefully and answer the questions given below :

Eight persons - Rahul, Raj, Ram, Ravi, Rohit, Ritesh, Ranjan
and Raju (not necessarily in the same order) are sitting around a
circular table in a way such that four of them are facing towards
the centre and the others are facing away from the centre. Each
of these persons have a different surname - Gaur, Gail, Gopal,
Gandhi, Girish, Guman, Garg and Goyal, but not necessarily in
the same order.
Ram’s surname is Gaur and is facing towards the centre. The
immediate neighbours of Ram faces away from the centre and
their surnames are Gail and Gopal. Raju faces away from the
centre and the immediate neighbours of Raju faces a direction
opposite to each other. Ranjan’s surname is Garg, is facing
towards the centre and sits third to the right of Ravi, whose
surname is Gail. The one whose surname is Girish is not
neighbouring the one whose surname is Gail or Ranjan. Rahul
is sitting opposite to Rohit and neither of them has a surname
Gopal but Surname of one of them is Girish. Both Rahul and
Rohit are facing in the same direction (for example, if one is
facing outside then other is also facing outside). Raju is not
neighbouring either the one whose surname is Garg or the one
who is neighbouring the one whose surname is Guman but is
sitting opposite to the one whose surname is Gandhi, who is
neighbouring Rahul. Ritesh’s surname is not Goyal and is facing
the centre.
1. Who among the following has surname Goyal?

(a) Raj (b) Rahul
(c) Rohit (d) Raju
(e) Ritesh

2. Who among the following sits second to the right of Raju?
(a) Raj (b) Rahul
(c) Rohit (d) Ravi
(e) Ram

3. Who among the following is sitting third to the right of
the one, who is sitting second to the left of the one, whose
surname is Gandhi?
(a) Ritesh (b) Rahul
(c) Rohit (d) Raju
(e) Ravi

4. Four of the following five are alike in some way and hence
form a group. Which of the following is the one that does
not belong to the group?
(a) Ritesh Gopal (b) Rahul Girish
(c) Ravi Gaur (d) Ram Garg
(e) Raj Gail

IBPS RRB Office Assistant Main
Solved Paper-2020
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5. Who among the following is the neighbour of Raj?
I. Ranjan
II. Rohit
III. Rahul
(a) Only I (b) Only II
(c) Only III (d) Both I and II
(e) Both I and III

DIRECTIONS (Qs. 6-10) : Read the following information
carefully and answer the questions given below :

A, B, C, D, E, F, G and H are sitting around a circular table
facing the centre but not necessarily in the same order. They all
are having discussin on an important topic. C is an immediate
neighbour of both A and G, who is an immediate neighbour of
E. E sits second to the left of C. Only two persons sit between C
and H. B is an immediate neighbour of D. Only one person sits
between B and F.
6. What is the position of D with respect to H in the above

arrangement?
(a) Third to the left (b) Immediate left
(c) Second to the right (d) Immediate right
(e) None of these

7. Four of the following five are alike in a certain way and
thus form a group. Which is the one that does not belong
to that group?
(a) BH (b) FA
(c) CB (d) CE
(e) DB

8. Who among the following sits second to the left of the one
who is on the immediate right to D?
(a) F (b) B
(c) D (d) H
(e) None of these

9. Which of the following persons sits between B and F?
(a) D (b) A
(c) C (d) H
(e) None of these

10. Who among the following sits third to right of the one
who sits opposite of C?
(a) A (b) H
(c) G (d) D
(e) None of these

DIRECTIONS (Qs. 11-15) : Read the following information
carefully and answer the questions given below :

Seven boxes namely P, Q, R, S, T, U and V are placed one above
the other in the rack but not necessarily in the same order. The
lowermost rack is numbered as one and above is two and so on.
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Box Q is placed immediately below Box T. Only one box is
placed between the Box V and Box S. Box T is placed in even
numbered rack above the rack three. Box U is placed immediately
above Box S. Box R is not placed above Box P. Neither Box P
nor Box R is placed in lowermost rack. Only three boxes are
placed between Box Q and Box V.
11. Which among the following box is placed exactly between

Box T and Box U?
(a) Box Q (b) Box U
(c) Box S (d) Box V
(e) None of these

12. How many boxes are placed between Box P and Box R?
(a) One (b) Two
(c) Three (d) Four
(e) None of these

13. Which box is placed in the lowermost rack?
(a) Q (b) T
(c) P (d) V
(e) None of these

14. Which of the following statement is true?
(a) There are only two boxes above Box U.
(b) Box Q is placed in rack 5.
(c) Box T and Box S are adjacent to each other.
(d) All of the above
(e) None of the above

15. How many boxes are there between Box S and Box V?
(a) None (b) 1
(c) 2 (d) 3
(e) None of these

DIRECTIONS (Qs. 16-20) : Study the following information
carefully and answer the questions given below it:

Seven friends namely Anil, Vivek, Chandan, Deepak, Eshwar,
Farhan and Ganesh are living in a building of seven floors,
ground floor numbered 1, first floor numbered 2 and so on till
the top most floor which is numbered 7. Each person lives on a
single floor. Total number of members in their family including
themselves is - one, six, one, two, four, three and two but not
necessarily in the same order.
Ganesh’s family has 1 more person than Anil’s family. Chandan
does not live on 6th floor. Vivek with his family lives exactly
below one of the couples but above the two people who live
alone. There is only one floor between the two people who live
alone. Chandan lives three floors above Ganesh. Eshwar lives
on  3rd  floor  with  his  wife  only.  There  are  total  4  persons  in
Vivek’s family including him.
16. Which one of the following lives on fifth floor?

(a) Chandan (b) Deepak
(c) Farhan (d) Ganesh
(e) None of these

17. How many members are there in Anil’s family
(a) 3 (b) 2
(c) 1 (d) 6
(e) None of these

18. Whose family consists of total three members?
(a) Anil (b) Chandan
(c) Eshwar (d) Ganesh
(e) None of these

19. How many person(s) live(s) between Eshwar and Ganesh?
(a) 3 (b) 2
(c) 1 (d) 4
(e) None of these

20. Which one of the following combinations of ‘floor number
- person - family members’ is the correct one?
(a) 2 - Ganesh - 1 (b) 3 - Eshwar - 5
(c) 6 - Chandan - 4 (d) 7 - Anil - 2
(e) None of these

DIRECTIONS (Qs. 21-24) : Study the following information
carefully and answer the questions given below :

Nine persons David, Ram, Sam, Binod, Ganguly, Kamal, Amar,
Kumar and Ajay, have an Exam on either 22nd or 27th of the
months of March, April and May of year 2019.
Note : At least one person and not more than two people have
an exam on same date.
Amar have exam on odd numbered date, but not immediately
before or after David. Neither Amar and Sam, nor Amar and
Ganguly, have exam on the same date. Only one person have
exam on the date on which Ram had. Sam have exam after
Ganguly. David have exam before Ganguly, in the month having
even numbered days. Sam have exam in May and immediately
after Ajay. Binod and Sam have exam on the same day. Kamal
have exam immediately after Ram. Ram have exam immediately
after Kumar, who have exam on even numbered date.
21. Who among the following having exam on 22nd April?

(a) David (b) Kamal
(c) Ajay (d) Ganguly
(e) Both (a) and (b)

22. Four of the following five are alike in a certain way and so
form a group. Which is the one that does not belong to
that group?
(a) Ram (b) Ajay
(c) Amar (d) Sam
(e) Ganguly

23. Binod attempts exam on which of the following date?
(a) 22 March (b) 22 April
(c) 22 May (d) 27 May
(e) None of these

24. Who among the following attempts exam immediately
before Amar?
(a) David (b) Binod
(c) Sam (d) Both (b) and (c)
(e) None of these

DIRECTIONS (Qs. 25-29) : Read the following information
carefully and answer the questions given below :

“Music is natural medicine” is coded as “5#U 2^I 7&A 8*E”.
“Eating vegetable makes healthy” is coded as “6$E 9=E 5#A
7&E”.
“Health and balance” is coded as “6$E 3%A 5#O 7&A”.
“Life extra beautiful now” is coded as “4@I 5#E 9=E 3%O”.
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25. What is the code for “Remember Disha”?
(a) 8*E 5@E (b) 7&A 5@I
(c) 8*E 5#I (d) 8*B 4@E
(e) Can’t be determined

26. What would be the code for “Wealth”?
(a) 6&E (b) 7&A
(c) 7&E (d) 6$A
(e) None of these

27. What would be the code for “Climatic condition”?
(a) 8 * J 9 = O (b) 9 * I 8 = O
(c) 8 * J 9 = P (d) 8 * I 9 = O
(e) Can’t be determined

28. What is the code for “Comedy”?
(a) 6$O (b) 5^O
(c) 6%E (d) 7&O
(e) None of these

29. What would be the code for “East”?
(a) 4@W (b) 3@O
(c) 4$O (d) 6$O
(e) None of these

30. How  many  such  pair(s)  of  letters  are  there  in  the  word
“POCKETBOOK’ which has as many letters between them
as in the alphabetical series as we move from left to right
or right to left?
(a) One (b) Two
(c) Three (d) Four
(e) Five

DIRECTIONS (Qs. 31-32) : Read the given information
carefully and answer the given questions :

Deepak walked 70 m towards north then turned left and walked
70 m. He then turned to south and walked 30 m then he took a
left turn and walked 50 m. After that he turned right and walked
10 m and finally he turned to left and walke 60 m.
31. What is shortest distance between starting and end point

and in which direction is Deepak from the starting point?
(a) 60 m, Northeast (b) 50 m, Northwest
(c) 60 m, Southwest (d) 50 m, Northeast
(e) 50 m, Southeast

32. What is the total distance travelled by Deepak in south
direction during the entire journey?
(a) 44 m (b) 40 m
(c) 50 m (d) 56 m
(e) 28 m

33. Metro train moved 12 km in north direction from Rajiv
Chowk to reach Patel Chowk. From there is took a right
turn and moved 20 km to reach Udyog Bhawan. Then it
moved 6 km after taking a left turn and reached Central
Sec. From there it again took a left turn and moved a distance
of 8 km to reach INA. Then it covered 13 km in south
direction to reach AIIMS. From there it took a right turn
and moved 7 km to reach Saket, where metro terminates.
If Metro yard is 5 km to the south of Saket, then Patel
Chowk is how far in which direction from Metro Yard?
(a) 12 km, North-east (b) 10 km, North-west
(c) 13 km, South-east (d) 13 km, North-west
(e) None of these

34. Find the wrong term in the given series.
639    657   675   693   712   720
(a) 657 (b) 675
(c) 639 (d) 712
(e) 720

DIRECTIONS (Qs. 35-37) : Study the following information
carefully and answer the questions given below :

Seven persons - Komal, Bharat, Manu, Kiara, Rimpu, Prakash
and Shipra have different height and weight such that the tallest
one is not heaviest one.
Kiara is taller than Komal but not heavier than Shipra. Bharat
is heavier than Rimpu but not as much tall as Manu. Prakash is
heavier than Bharat and Rimpu but shorter than Manu and
Bharat. Kiara is not taller than Prakash. Shipra is not taller
than Komal and also not heavier than Rimpu. Komal is not
lighter than Manu who is heavier than Bharat. Manu is shorter
than only one person. Prakash is not the second heaviest and is
lighter than Manu.
35. Who among the following is the second lightest?

(a) Prakash (b) Rimpu
(c) Komal (d) Shipra
(e) None of these

36. How many person(s) are heavier than the one who is second
shortest?
(a) None (b) One
(c) Two (d) Three
(e) More than three

37. Who among the following is the heaviest?
(a) Shipra (b) Manu
(c) Komal (d) Prakash
(e) None of these

DIRECTIONS (Qs. 38-40) : Read the given information
carefully and answer the following questions :

A family of nine members - Bala, Shalu, Honey, Chand, Geet,
Gopi, Jassi, Kinjal and Bittu distributed along 3 generations.
Such that :
Bala is Bittu’s grandmother. Chand is Kinjal’s mother. Gopi is
Shalu’s son in law. Honey is Geet’s husband. Jassi is Bittu’s
sister. Chand has a brother, a niece and a nephew. Only couples
have children.
38. How is Kinjal related to Bittu’s grandmother?

(a) Daughter (b) Son
(c) Grandson (d) Son in law
(e) Can’t be determined

39. How is Shalu’s son in law related to Geet’s husband?
(a) Father (b) Father in law
(c) Brother in law (d) Uncle
(e) Can’t be determined

40. Four of the following five are alike in a certain way and
hence form a group. Which of the following is the one that
does not belong to the group?
(a) Gopi (b) Chand
(c) Honey (d) Geet
(e) Bala
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QUANTITATIVE APTITUDE

DIRECTIONS (Qs. 41-45) : Simplify the following given
equations.

41. 23 (126 392 7 162 14 ) ?+ ¸ - + =
(a) 2 (b) 5
(c) 6 (d) 11
(e) None of these

42.
2 216 12140% of 200 7 ?

2
-

+ - =

(a) 496 (b) 376
(c) 281 (d) 329
(e) None of these

43.
63

576 729 ?
7 3

´ - =
´

(a) 4016 (b) 2025
(c) 2861 (d) 2179
(e) None of these

44.
1 2 1 1

3 7 4 ? 2
6 3 4 6
+ - = +

(a)
45

11
(b)

37
10

(c)
56

12
(d)

78
15

(e) None of these
45. 1366 + 336 – 666 – 33 + 333 = ?

(a) 1196 (b) 1456
(c) 1238 (d) 1336
(e) None of these

DIRECTIONS (Qs. 46-50): The following information is about
the production of cars by 3 different companies from Monday
to Friday in a specific week. Read the information carefully
and answer the following question:

The total production by 3 companies on Monday was 540 out of
which 100/3% cars were produced by Tata. The number of cars
produced by Renault on Monday is less than the cars produced
by Tata  on  Monday by the  same extent  as  the  number  of  cars
produced by Maruti on Monday is more than the cars produced
by Tata on Monday. The difference between cars produced by
Renault and Maruti on Monday is 40.150 cars are produced by
Tata on Tuesday, which is 100 less than the cars produced by the
same company on Wednesday. A total of 910 cars were produced
by Tata from Monday to Friday. The ratio between cars produced
by Tata on Thursday to cars produced by the same company on
Friday is 5 : 6. 220 cars were produced by Renault on Tuesday,
which is 80 less than the cars produced by Maruti on Wednesday.
A total of 570 cars were produced on Tuesday, which is 76% of
the total cars produced on Wednesday. The number of cars
produced by Maruti on Thursday is 200/3% more than cars
produced by Tata on the same day. Total 580 cars were produced

on Thursday. The number of cars produced by Maruti on Friday
is same as that on Monday. 140 cars were produced by Renault
on Friday.
46. Find the ratio between total cars produced on Monday to

that on Wednesday.
(a) 18 : 29 (b) 18 : 25
(c) 18 : 31 (d) 3 : 5
(e) None of these

47. Find the total number of cars produced by Renault from
Monday to Friday.
(a) 900 (b) 980
(c) 950 (d) 960
(e) None of these

48. Find the average number of cars produced per day by
Maruti from Monday to Friday. (approximate)
(a) 250 (b) 220
(c) 270 (d) 240
(e) 230

49. On which pair of days out of the following, the number of
cars produced by Tata is the same?
(a) Tuesday and Wednesday
(b) Wednesday and Thursday
(c) Tuesday and Thursday
(d) Monday and Wednesday
(e) Monday and Tuesday

50. On which day the total number of cars produced was the
maximum?
(a) Monday (b) Tuesday
(c) Wednesday (d) Thursday
(e) Friday

DIRECTIONS (Qs. 51-55) : In the following number series,
which number will come at the question mark (?).

51. 13    15    21    33    53    ?
(a) 82 (b) 83
(c) 81 (d) 92
(e) 102

52. 2    4    12    60    420    ?
(a) 4020 (b) 4620
(c) 4540 (d) 4650
(e) 3760

53. 9    13    22    36    55    ?
(a) 79 (b) 75
(c) 80 (d) 94
(e) 93

54. 7    13    25    49    97    ?
(a) 178 (b) 191
(c) 203 (d) 193
(e) 188

55. 50    67    33    84    16    ?
(a) 101 (b) 131
(c) 133 (d) 93
(e) 108
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DIRECTIONS (Qs. 56-60) : Study the following bar chart
carefully and answer the questions given beside.
In the following figure, the bar graph shows the speeds (in km/h)
of five different ships in a river and the speed of the water (in km/h)
and the live graph shows the percentage of distance (in %) travelled
by all the five ships.
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                 Note : The total distance is 3000 km.
56. Two friends Deepak and Shivam decided to travel 675 km

till point O in downstream. Deepak is on ship B and Shivam
is on ship D. After 510 km, Shivam’s ship broke down but
immeadiately he got help from Nishan, who is travelling
in the same direction as Shivam and is on Ship E.
Case I : Time taken by Deepak to reach point O.
Case II : Time taken by Shivam to reach on point O.
(a) Case I ³  Case II (b) Case I £  Case II
(c) Case I = Case II or No relation
(d) Case I > Case II (e) Case I < Case II

57. The speed of another ship, F is 11.11% more than the speed
of ship C and speed of stream (for ship F) is 25% more
than the speed of stream for ship E.
Case I : Find the time taken by ship F to cover a distance
of 2625 km in upstream direction.
Case II : Find the time taken by ship C to cover a distance
of 1860 km in upstream direction.
(a) Case I ³  Case II (b) Case I < Case II
(c) Case I = Case II or No relation
(d) Case I > Case II (e) Case I £  Case II

58. The total distance is increased by 25%.
Case I : The time taken by ship C to cover the new distance
in upstream.
Case II : The time taken by ship A to cover old distance in
downstream.
(a) Case I ³  Case II (b) Case I £  Case II
(c) Case I = Case II or No relation
(d) Case I > Case II (e) Case I < Case II

59. Time taken by Ship A and B together to travel their
respective destinations in downstream is approximately
______ percent more or less than time taken by ship t to
travel its destination in upstream.
(a) 23.76%  Less (b) 23.76%  More
(c) 19.2%  Less (d) 19.2%  More
(e) None of these

60. Case I : The average time taken by all the ships to cover
their respective distances in upstream.
Case II : Time taken by ship E to travel 1728 km in still
water.

(a) Case I ³  Case II
(b) Case I £  Case II
(c) Case I = Case II or No relation
(d) Case I > Case II
(e) Case I < Case II

61. I. 25 11 12 0+ - =p p

II. 24 13 12 0- - =q q

(a) if p > q (b) if £p q

(c) if ³p q (d) if p < q
(e) if p  =  q or relationship between p and q can’t  be

established

62. I. 23 19 30 0+ + =p p

II. 23 20 32 0- - =q q

(a) if p > q (b) if £p q

(c) if ³p q (d) if p < q
(e) if p  =  q or relationship between p and q can’t  be

established

63. I. 2 4 7 21 0- + =p p

II. 22 8 5 50 0- - =q q

(a) if p > q (b) if £p q

(c) if ³p q (d) if p < q
(e) if p  =  q or relationship between p and q can’t  be

established

64. I. 2 52 667 0- + =p p

II. 2 8 33 0+ - =q q

(a) if p > q (b) if £p q

(c) if ³p q (d) if p < q
(e) if p  =  q or relationship between p and q can’t  be

established

65. I. 2 13 2 60 0p p- + =

II. 2 3 5 20 0+ - =q q

(a) if p > q (b) if £p q

(c) if ³p q (d) if p < q
(e) if p  =  q or relationship between p and q can’t  be

established
66. A tank can be filled by pipe x in 20 minutes and by pipe y

in 30 minutes. A person left the tank with both the pipes
open and returned just when the tank should have been
full. Finding however, the waste pipe z was open, he closes
it. In 2.4 minutes more, the tank is full. In what time the
waste pipe can empty the tank?
(a) 30 minutes (b) 60 minutes
(c) 45 minutes (d) 90 minutes
(e) None of these
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67. Three persons M, N and T decided to work in such a way
that M and N work together on first day, T alone works on
second day, again M and N on  third  day  and  so  on,  on
alternate days till the work completed. N and T together
can complete the work in 10 days and efficiency of N is
twice the efficiency of T. Number of days taken by M to
complete the work is five more than that of N. Find the
number of days in which the work will be completed.
(a) 9 3/7 days (b) 10 4/7 days
(c) 11 5/7 days (d) 12 6/7 days
(e) 13 days

68. With motor boat in off condition, the boat moves 400 m in
360 seconds. The same boat travel from A to B and come
back in 9 minutes. The distance between the two points is
1.44 km. Find the speed of the boat in still water.
(a) 20 m/sec (b) 50/9 km/hr
(c) 50/18 m/sec (d) 36 km/hr
(e) 20 km/hr

69. A boat takes 14 hours for travelling downstream from x to
z and coming back to y which is midway between x and z.
If velocity of the stream is 10 kmph and speed of the boat
in still water is 15 kmph. What is the distance between x
and z?
(a) 125 (b) 100
(c) 165 (d) 200
(e) None of these

70. There are two Plans.
Plan 1 : Simple interest at 50% per annum for one and
half years.
Plan 2 : Compound interest compounded half-yearly at
50% per annum for one and half years.
Which plan is better and approximately by how much
percent?
(a) Plan 2 is better by 15%
(b) Plan 1 is better by 15%
(c) Plan 1 is better by 20%
(d) Both plans give same amount
(e) Plan 2 is better by 20%

71. A shopkeeper bought two shirts P and Q at two different
rates. He marked the shirt P 50% more and sold it by giving
x% of discount. The marked price of the shirt P is equal to

the cost price of Q. He sold the shirt Q at a rate twice that
of the article P. The total profit percent is 50%. Find the
value of x.
(a) 20% (b) 16.67%
(c) 25% (d) 13.33%
(e) 15%

72. Rahul and Vijay started a business. Vijay invested Rs.300
more than Rahul. After three and half months, Rahul left.
After 6 months from starting of the business Lalit joined
with an investment of 50% more than Rahul. After 10
months from starting of the business, Vijay left. After one
year, Lalit got 36% of profit. Find how much Vijay would
have invested.
(a) 900 (b) 1200
(c) 1500 (d) 1000
(e) 1600

73. A vessel is full of alcohol. One quarter of the alcohol is
replaced with water. Again 20 litres of mixture is taken
out and 15 litres of alcohol is added. The concentration of
alcohol in the final mixture is 80%. Find the quantity of
alcohol initially.
(a) 60 litres (b) 20 litres
(c) 80 litres (d) 75 litres
(e) 15 litres

74. The average of present ages of members of a family (father,
mother and daughter) is 34. 4 years hence, the daughter’s
age is half of the mother’s age. 10 years ago, the ratio of
ages of father and daughter is 17 : 4. Find the sum of ages
of father and mother at the time of Daughter’s birth.
(a) 45 years (b) 50 years
(c) 52 years (d) 48 years
(e) None of these

75. An urn consists of some green, red and black balls. Total
number of balls in the urn is 15. If two balls are picked,
probability that the two balls are green is 2/21. Now one
ball is picked from the urn, find the probability that the
ball is either red or black.
(a) Cannot be determined (b) 2/15
(c) 1/5 (d) 1/10
(e) 2/3

DIRECTIONS (Qs. 76-80) : Study the table carefully to answer the questions that follow :
Candidates who appeared and passed in the text from four states in six different years

Bihar Rajasthan TN Kerala
Appeared Passed Appeared Passed Appeared Passed Appeared Passed

2016 124 78 445 354 454 343 546 345
2017 234 124 545 435 732 567 565 456

2018 456 235 664 454 693 456 235 112
2019 398 156 345 144 645 545 546 234

2020 546 346 584 354 354 258 656 564
2021 547 435 704 347 578 313 456 252

School

Year
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76. What was the total number of failed candidates from states
TN in the year 2020 and the number of candidates who
appeared in the exam from state Kerala in the year 2018?
(a) 335 (b) 325
(c) 322 (d) 332
(e) None of these

77. In which year was the difference between the number of
candidates who appeared and passed in the exam from
state Rajasthan second lowest?
(a) 2019 (b) 2016
(c) 2017 (d) 2018
(e) 2021

78. What was the respective ratio between the number of
candidates who appeared from state TN in the year 2018
and the number of candidates who passed in the exam
from state Kerala in the year 2021?
(a) 11 : 4 (b) 11 : 5
(c) 5 : 11 (d) 9 : 11
(e) None of these

79. Number of candidates who passed in the exam from state
Raj. in the year 2017 was approximately, what percent of
number of candidates who appeared from state Bihar in
the year 2020?
(a) 86 (b) 87
(c) 92 (d) 84
(e) 80

80. What was the approximate percent increase in the number
of candidates who passed in the exam from state Bihar in
the year 2021 as compare to the previous year?
(a) 18 (b) 39 (c) 26 (d) 36
(e) 34

COMPUTER KNOWLEDGE

81. Compatibility in regard to computers refers to _______
(a) the software doing the right job for the user
(b) it being versatile enough to handle the job
(c) the software being able to run on the computer
(d) software running with other previously installed

software
(e) None of the above

82. What is a file?
(a) A file is a section of main storage used to store data
(b) A file is a collection of information that has been given

a name and is stored in secondary memory
(c) A file is the part of a program that is used to describe

what the program should do
(d) A file is another name for floppy disk
(e) None of the above

83. In Excel _______ contains one or more worksheets.
(a) Template (b) Workbook
(c) Active cell (d) Label
(e) None of these

84. The _______ tells the computer how to use its components.
(a) utility (b) network
(c) operating system (d) application program
(e) None of these

85. To access a mainframe or supercomputer, users often use
a _______ .
(a) terminal (b) node
(c) desktop (d) handheld
(e) None of these

86. What characteristic of Read-Only Memory (ROM) makes
it useful?
(a) ROM information can be easily updated
(b) ROM provides very large amounts of inexpensive data

storage
(c) Data in ROM is nonvolatile, that is, it remains there

even without electrical power
(d) ROM chips are easily swapped between different

brands of computers
(e) None of these

87. Which of the following is the communications protocol
that sets the standard used by every computer that accesses
Web-based information?
(a) XML (b) DML
(c) HTTP (d) HTML
(e) None of these

88. Computers manipulate data in many ways, and this
manipulation is called _______
(a) utilizing (b) batching
(c) upgrading (d) processing
(e) None of these

89. An adhoc query is a _______
(a) pre-planned question
(b) pre-scheduled question
(c) spur-of-the-moment question
(d) question that will not return any results
(e) None of these

90. Digital photos and scanned images are typically stored as
_______  graphics with extensions such as. bmp, .png,
.jpg, .tif, or .gif.
(a) vector (b) bitmap
(c) either vector or bitmap(d) neither vector nor bitmap
(e) None of these

91. The simultaneous execution of two or more instructions is
called _______.
(a) sequential access
(b) reduced instruction set computing
(c) multiprocessing
(d) disk mirroring
(e) None of these

92. Which of the following menu types is also called a drop-
down menu?
(a) fly-out (b) cascading
(c) pop-up (d) pull-down
(e) None of these

93. In an information system, alphanumeric data normally
takes the form of _______.
(a) Sentences and paragraphs
(b) Numbers and alphabetical characters
(c) Graphic shapes and figures
(d) Human voice and other sounds
(e) None of these
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94. The first step in the transaction processing cycle is
_______.
(a) database operations (b) audit
(c) data entry (d) use inquiry
(e) None of these

95. The process of a computer receiving information from a
server on the Internet is known as –
(a) Pulling (b) Pushing
(c) Downloading (d) Transferring
(e) None of these

96. A computer’s type, processor, and operating system define
its _______
(a) brand (b) size
(c) platform (d) speed
(e) None of these

97. The trend of digital electronic devices becoming smaller
and increasingly powerful has fully supported the move to
an increasingly _______ workforce.
(a) desktop (b) intelligent
(c) server (d) mobile
(e) None of these

98. Distributed processing involves _______.
(a) solving computer component problems from a

different computer
(b) solving computing problems by breaking them into

smaller parts that are separately processed by different
computers

(c) allowing users to share files on a network
(d) allowing users to access network resources away from

the office
(e) None of these

99. A kiosk _______
(a) is data organized and presented in a manner that has

additional value beyond the value of the data itself.
(b) combines microscopic electronic components on a

single integrated circuit that processes bits according
to software instructions.

(c) is a computer station that provides the public with
specific and useful information and services.

(d) describes a computer’s type, processor, and operating
system.

(e) None of these
100. In order to save an existing document with a different name

you need to _______
(a) Retype the document and give it a different name.
(b) Use the Save as command.
(c) Copy and paste the original document to a new

document and then save.
(d) Use Windows Explorer to copy the document to a

different location and then rename it.
(e) None of these

101. A series of instructions that tells a computer what to do
and how to do it is called a
(a) program (b) command
(c) user response (d) processor
(e) None of these

102. The time for the actual data transfer after receiving the
request for data from secondary storage is referred to as
the disk’s
(a) transfer time (b) movement time
(c) access time (d) data input time
(e) None of these

103. What happens when we try to delete the files on the  floppy?
(a) The files get moved to the Recycle Bin
(b) Files on a floppy cannot be deleted
(c) The files get deleted and can be restored again from

Recycle Bin.
(d) The files get deleted and cannot be restored again
(e) The file gets copied on the Hard disk

104. Any data or instruction entered into the memory of a
computer is considered as
(a) storage (b) output
(c) input (d) information
(e) None of these

105. The storage element for a Static RAM is the _____.
(a) diode (b) resistor
(c) capacitor (d) flip-flop
(e) None of these

106. Which media has the ability to have data/information stored
(written) on them by users more than once?
(a) CD-R disks (b) CD-RW disks
(c) Zip disks (d) Opti-Disks
(e) Both CD-RW disks and Zip disks

107. What is correcting error in a program called?
(a) Compiling (b) Debugging
(c) Grinding (d) Interpreting
(e) None of these

108. To be able to “boot”, the computer must have a(n)
(a) Compiler (b) Loader
(c) Operating System (d) Assembler
(e) None of these

109. By firmware we understand _______.
(a) physical equipment used in a computer system.
(b) a set of instructions that causes a computer to perform

one or more tasks.
(c) the people involved in the computing process.
(d) a set of programs that is pre-installed into the read

only memory of a computer during the time of
manufacturing.

(e) None of these
110. A complete electronic circuit with transistors and other

electronic components on a small silicon chip is called a (n)–
(a) workstation (b) CPU
(c) magnetic disk (d) integrated circuit
(e) None of these

111. Dr. E.F. Codd represented _______ rules that a database
must obey if it has to be considered truly relational
(a) 10 (b) 8 (c) 12 (d) 6
(e) 5

112. A collection of conceptual tools for describing data,
relationships, semantics and constraints is referred to as
(a) ER model (b) Database
(c) Data Model (d) DBMS
(e) None of these
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113. When a computer is switched on, the booting process
performs
(a) Integrity Test
(b) Power-On-Self-Test
(c) Correct Functioning Test
(d) Reliability Test
(e) Shut-down

114. How do businesses protect their databases?
(a) Security guards are hired to watch the databases at all times.
(b) Databases are protected by file swapping.
(c) Databases are naturally protected.
(d) Databases are kept physically and electronically

secure.
(e) The computer room is kept locked after office hours.

115. Each cell in a Microsoft Office Excel document is referred
to by its cell address, which is the
(a) cell’s column label
(b) cell’s column label and worksheet tab name
(c) cell’s row label
(d) cell’s row and column labels
(e) cell’s contents

116. Where is RAM located ?
(a) Expansion Board (b) External Drive
(c) Mother Board (d) All of above
(e) None of these

117. The shortcut key Ctrl+F in Word is used for
(a) To view document in full view
(b) To open the Formula dialog box
(c) To save the file
(d) To open the Find and Replace dialog box
(e) None of these

118. A _____ is used to read handwritten or printed text to
make a digital image that is stored in memory.
(a) printer (b) laser beam
(c) scanner (d) touchpad
(e) keyboard

119. ______ search engine sends request for information to
several search engines simultaneously and compiles the
results
(a) Meta (b) Individual
(c) Directory (d) Subject directory
(e) None of these

120. Unsolicited commercial email is commonly known as
(a) spam (b) junk
(c) hoaxes (d) hypertext
(e) None of these

GENERAL AWARENESS

121. Hiroshima Day is celebrated on _________
(a) 6 August (b) 6 July
(c) 6 September (d) 6 December
(e) 12 January

122. Who is the Prime Minister of Iceland?
(a) Bjarni Benediktsson (b) Benedikt Jóhannesson
(c) Katrin Jakobsdottir (d) Micheál Martin
(e) Jacinda Kate Laurell Ardern

123. K S Chitra has been conferred with Padma Bhushan award
for 2021. She was awarded for distinguished service in
which of the following fields?
(a) Literature and Education (b) Dance
(c) Social Worker (d) Art and Music
(e) Trade and Industry

124. ASHA is a trained female community health activist. What
is the full form of ASHA?
(a) Association of Social and Health Agencies
(b) Accredited Social Health Activist
(c) Affiliated Social Help Agency
(d) Accord of Social and Health association
(e) None of the above

125. What is the deposit limit of Payment Banks?
(a) Rs 5 Lakhs (b) Rs 3 Lakhs
(c) Rs 1 Lakh (d) Rs 10,000
(e) Rs 50,000

126. What is the full form is OTT?
(a) Over-The-Top
(b) On-The-Top
(c) Over-The-Transformation
(d) On-The-Transition
(e) None of the above

127. Which of the following is not a G7 nation?
(a) Canada (b) China
(c) Japan (d) UK
(e) US

128. When will India host G20 summit?
(a) 2021 (b) 2022
(c) 2023 (d) 2024
(e) 2025

129. Singapore Central Bank is known as _________
(a) Developmental Bank of Singapore
(b) United Bank of Singapore
(c) OCBC Bank
(d) Monetary Authority of Singapore
(e) None of the above

130. Which company does not come under Hinduja group?
(a) Ashok Leyland
(b) IndusInd Bank
(c) NxtDigital Ltd
(d) Cyqurex Systems Private Limited
(e) HSBC

131. What is the highest denomination note ever printed by
the RBI?
(a) Rs. 1,00,000 (b) Rs. 10,000
(c) Rs. 5,000 (d) Rs. 1,000
(e) Rs 2,000

132. Which of the following ministries has constituted the
National Council for Transgender Persons, a requirement
under the Transgender Persons (Protection of Rights) Act,
2019?
(a) Ministry of Personnel, Public Grievances and

Pensions
(b) Ministry of Prime Minister’s Office
(c) Ministry of Skill Development and Entrepreneurship
(d) Ministry of Social Justice and Empowerment
(e) Ministry of Women and Child Development
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133. What is the revised overdraft limit under Pradhan Mantri
Jan Dhan Yojana?
(a) Rs 5,000 (b) Rs 20,000
(c) Rs 10,000 (d) Rs 2,000
(e) Rs 1,000

134. If two parallel lines are drawn on the front part of a cheque,
it is called ___.
(a) Crossed Cheque (b) Open Cheque
(c) Slate Cheque (d) Traveller Cheque
(e) Self cheque

135. The Public Provident Fund is savings-cum-tax-saving
instrument in India, introduced by the National Savings
Institute of the Ministry of Finance in 1968. What is the
minimum amount to be invested in PPF account?
(a) Rs. 100 (b) Rs. 500
(c) Rs. 1000 (d) Rs. 200
(e) None of these

136. Which of the following young mathematicians has been
awarded the Ramanujan Award, 2020?
(a) Franklin James (b) Carolina Araujo
(c) Neelmani Pandey (d) Ramesh Kumar
(e) None of the above

137. In which state Hornbill Festival is celebrated?
(a) Sikkim (b) Mizoram
(c) Assam (d) Nagaland
(e) Karnataka

138. In which year the National Dairy Development Board
(NDDB) was established through an act of parliament with
the headquarters at Anand (Gujarat) ?
(a) 1961 (b) 1965
(c) 1967 (d) 1968
(e) 1970

139. Bharat Sanchar Nigam Limited (BSNL) has launched a
Unified Payments Interface (UPI) based payment platform,
Bharat InstaPay in partnership with which bank?
(a) State Bank of India (b) Canara Bank
(c) Union Bank of India (d) Bank of Baroda
(e) Punjab National Bank

140. Which of the following states hosted India’s first Seaplane
Project?
(a) Maharashtra (b) Gujarat
(c) Odisha (d) Goa
(e) None of the above/More than one of the above

141. What is the full form of MSP?
(a) Minimum support prices
(b) Maximum support prices
(c) Market support prices
(d) Minimum supporting prices
(e) None of these

142. According to Census 2011, India has a rural population of-
(a) 21.96 % (b) 31.16 %
(c) 35.22 % (d) 68.84 %
(e) None of these

143. The Full form of FCCB is
(a) Foreign currency convertible bonds
(b) Foreign countries convertible bonds
(c) Foreign companies convertible bonds
(d) None of the above
(e) None of these

144. What is the maximum deposit allowed in India Post
Payment Bank (IPPB)?
(a) Rs. 10,000 (b) Rs. 50,000
(c) Rs. 1 lakh (d) Rs. 5 lakh
(e) No limit

145. Under Pradhan Mantri Fasal Bima Yojana (PMFBY) what
percentage of the premium has to be paid by a farmer, for
Kharif crops?
(a) 5% (b) 3%
(c) 1.5% (d) 2%
(e) 0.5%

146. International Tiger Day is celebrated on-
(a) 16 September (b) 19 July
(c) 29 July (d) 12 August
(e) None of the above/More than one of the above

147. Who is the author of the book ‘Overdraft: Saving the
Indian Saver’?
(a) S Jaishankar (b) Viral Acharya
(c) BP Kanungo (d) Urjit Patel
(e) None of the Above

148. What is the capital of Hungary?
(a) Sofia (b) Budapest
(c) Tirana (d) Brussels
(e) None of the Above

149. F stands for in IFSC?
(a) Fiscal (b) Forex
(c) Foreign (d) Financial
(e) None of the Above

150. Soumit Chatterjee related to which field?
(a) Writer (b) Film
(c) Sports (d) Painter
(e) Politics

151. Global Trust Bank (GTB) merged with which bank?
(a) Oriental Bank of Commerce
(b) Indian Overseas Bank
(c) Dena Bank
(d) Bank of Baroda
(e) SBI

152. In RERA, second R is stand for—
(a) Rural (b) Regulation
(c) Regulatory (d) Regional
(e) Reform

153. A two piece note pasted together wherein both the pieces
presented belong to the same note, and form the entire
note is called—
(a) Mismatch note (b) Imperfect note
(c) Issuable note (d) Clean note
(e) Soiled note

154. Who wins Nobel for Chemistry in 2020?
(a) Jennifer Doudna (b) Akira Yoshino
(c) Gregory Winter (d) Fraser Stoddart
(e) Joachim Frank

155. Srikanth Kidambi related to which sport?
(a) Kabaddi (b) Tennis
(c) Badminton (d) Hockey
(e) Volleyball
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156. In UPI, U refers to—
(a) Union (b) Universal
(c) Unified (d) Under
(e) None of the Above

157. A wholly owned subsidiary of Reserve Bank of India (RBI)
is——
(a) HDFC (b) IDBI
(c) NHB (d) SEBI
(e) NABARD

158. A type of Home loan for older homeowners that requires
no monthly mortgage payments is known as—
(a) Jumbo Mortgage
(b) Interest Mortgage
(c) Adjustable Rate Mortgage
(d) Conventional Mortgage
(e) Reverse Mortgage

159. Chhilchhila Wildlife Sanctuary (Seonthi Reserve forest)
located in which state?
(a) Rajasthan
(b) Uttrakhand
(c) Tamilnadu
(d) Haryana
(e) Madhya Pradesh

160. The first tri-service Armed forces exercise INDRA 2017
between—
(a) India & Russia (b) India & USA
(c) India & Sri-Lanka (d) India & Afghanistan
(e) India & Romania

ENGLISH LANGUAGE

DIRECTIONS (Qs. 161-167): Read the passage and answer
the questions that follow:
Research from the Indiana University Kelley School of Business
found that emotional intelligence - the ability to understand,
use and manage emotions to relieve stress - may be more vital
to a business' survival than previously thought. The paper, 'What
matters more for entrepreneurship success? A meta-analysis
comparing general mental ability and emotional intelligence
in entrepreneurial settings, '  appears in Strategic
Entrepreneurship Journal.
"We found that entrepreneurs benefit much more from emotional
competences than other competencies -- such as IQ -- due to
high uncertainty and ambiguity that comes with the world of
entrepreneurship and even more applicable in a crisis," said
Regan Stevenson, assistant professor of entrepreneurship and
management and the John and Donna Shoemaker Faculty
Fellow in Entrepreneurship. "Being an entrepreneur is not a
'traditional workplace setting.' If you are an entrepreneur, you
know that managing your business can often feel like you are
screaming alone on an emotional rollercoaster," Stevenson said.
"The extreme nature of this setting makes one's ability to manage
emotions and social connections critically more important,
especially so during times of major disruption and crisis,"
Stevenson added. According to the recent US Bureau of Labor
Statistics, about a fifth of all new businesses fail within their

first two years and nearly half are shuttered within five years.
More than a million US companies with employees were
shuttered in 2020, in large part due to the COVID-19 pandemic.
The number of bankruptcies in 2020 and those expected this
year likely will approach levels last seen during the worst quarter
of the 2008-09 financial crises.
"The extreme nature of the pandemic has made one's ability to
manage emotions and social connections critically more
important, especially so during these times of major disruption
and crisis," said Ernest O'Boyle, associate professor of
management and entrepreneurship and the Dale M Coleman
Chair in Management. The research found that those with higher
emotional intelligence are better able to be self-motivated and
have higher social skills - even under more normal
circumstances.
"Emotional Intelligence is linked to social skills such as
accurately perceiving other's needs, making good first
impressions, and influencing others in interpersonal
interactions. These skills are important for developing business
networks, which can aid in signaling legitimacy and in
acquiring resources," researchers wrote. "These skills can
enhance creativity and opportunity recognition; aid decision
making in emotionally turbulent situations and enable adaptive
responses to unpredictable events," researchers further wrote.
Previous research has suggested that cognitive intelligence was
a greater predictor of success among entrepreneurs. The two
factors are seldom studied together. "While IQ is unquestionably
the better predictor of job performance and career success across
all jobs and careers, within the domain of entrepreneurship,
emotional intelligence was the stronger predictor of success,"
O'Boyle said. "Those with high emotional intelligence tended
to be more successful as business leaders and enjoy success than
in more typical jobs and careers," added O'Boyle. Their findings
are based on an empirical study of nearly 40 previous studies
and a meta-analysis of 65,826 entrepreneurs observed through
that research.
161. According to the author, what are the traits of emotional

intelligence?
(i) Ability of understanding and using one's emotions
(ii) Mental ability is the key to gain emotional

intelligence
(iii) An emotionally intelligent person knows to manage

his business
(iv) Manage emotions to relieve stress
(a) Only ii (b) Both i and ii
(c) Both i and iv (d) Both ii and iii
(e) Only iii

162. Why the report suggests that entrepreneurs benefit from
emotional competencies than other competencies?
(a) The entrepreneurship world is full of uncertainties

where emotional competencies are beneficial.
(b) Emotional competencies are highly applicable during

crisis times.
(c) Both (a) and (b)
(d) The entrepreneurship is full of challenges and there is

a need of peace of mind to deal with those challenges.
(e) A calm and composed entrepreneur takes his business

to new heights.
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163. What it's like to be managing a business being an
entrepreneur?
(a) It quite hard being an entrepreneur and manage a

business all by yourself.
(b) Managing a business becomes hard with lack of

emotional intelligence.
(c) There is a lot of emotional stress taking a toll on you.
(d) It's just like a traditional workplace setting.
(e) Screaming alone on an emotional rollercoaster .

164. How the extreme nature of managing a business affects
one's emotional ability?
(a) It enhances one's ability of managing emotions.
(b) It boosts the management of social connections

during major disruption and crisis.
(c) It helps to prevent the companies from being

shuttered.
(d) It checks bankruptcies of companies and brings them

out of the financial crises.
(e) Both (a) and (b)

165. What are the findings of the research report about people
with higher emotional intelligence?
(a) They tend to self-motivate people.
(b) Both (a) and (c)
(c) People with higher emotional intelligence possess

higher social skills.
(d) Emotionally intelligent people have better decision

making.
(e) People with better emotional intelligence are best

entrepreneurs.
166. What are the skills that emotional intelligence gives birth

to?
(a) Development of social skills to perceive what others

need.
(b) It helps to cast first good impression.
(c) It brings an influence while having interpersonal

interactions.
(d) The social skills enhance creativity and recognition

of opportunities.
(e) All of the above

167. What are the two factors studied that the author talks about
when predicting success among entrepreneurs?
(i) IQ
(ii) Emotional Intelligence
(iii) Success in different field
(a) i, ii (b) ii, iii
(c) i, ,iii (d) only i
(e) None of these

DIRECTIONS (Qs. 168-169): Which of the following words
is most similar in meaning with the given words as highlighted
in the passage?

168. Ambiguity
(a) Transparency (b) Ignorance
(c) Enigma (d) Destitute
(e) Truism

169. Empirical
(a) Absurdity (b) Pragmatic
(c) Placid (d) Obdurate
(e) Indurated

170. Which of the following words is the most opposite in
meaning with LEGITIMACY as highlighted in the
passage?
(a) Disestablish (b) Misrepresent
(c) Wrongly (d) Illegality
(e) Warrant

DIRECTIONS (Qs. 171-175): In the questions given below, a
sentence has been broken down into four fragments labeled
(A), (B), (C) and (D) and arranged, not necessarily in the correct
order. You have to find the correct order of arrangement from
the options given below. In case, the sentence is correct in its
original form, please select (E) as your answer.

171. Moving from one room in your house (A)/ a change of
scenery, even if it's just (B)/to another, combined with
movement helps (C)/to clear your mind and help you reset
your focus (D)
(a) CBAD (b) BACD
(c) BADC (d) DACB
(e) No rearrangement required

172. Many mountains to climb as they (A)/battle to introduce
successful vehicles (B)/ new and established carmakers
have (C)/in an increasingly crowded marketplace (D)
(a) CABD (b) CBAD
(c) DBCA (d) DABC
(e) No rearrangement required

173. Yourself and your resources to it (A)/ out if you have the
right startup (B)/ it's imperative to try to figure (C)/ idea
before fully committing (D)
(a) ACBD (b) BCDA
(c) CABD (d) CBDA
(e) No rearrangement required

174. One of the most prevalent myths (A)/ or sunblock on cold
or cloudy days (B)/ that you don't need to apply sunscreen
(C)when it comes to sun protection is (D)
(a) BCAD (b) CDBA
(c) ADCB (d) DCAB
(e) No rearrangement required

175. Through them obviously does not have any benefit (A)/
and taking breaks, as simply putting (B)/them on your
schedule and constantly working (C)/ be diligent about
both scheduling (D)/
(a) DACB (b) DBCA
(c) CBDA (d) BCAD
(e) No rearrangement required

DIRECTIONS (Qs. 176-180): In this question, a sentence is
divided into four fragments. One of the fragments may or may
not have an error with respect to context or grammar. You have
to identify that part and mark it as your answer. If all the parts
are error free mark option 'e' as your answer.

176. It is important to (A)/look to the political (B)/and cultural
context in (C)/which the novel was written. (D)/ No Error
(E)
(a) A (b) B
(c) C (d) D
(e) No Error
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177. The film itself is (A)/preceded by an elaborately (B)/ironic
but nervy disclaimer (C)/about being just a joke.(D)/ No
Error (E)
(a) A (b) B (c) C (d) D
(e) No Error

178. For myself, I hope to (A)/accomplish it without much too
(B)/pain, and with present-day drug (C)/developments this
seems probable. (D)/ No Error (E)
(a) A (b) B (c) C (d) D
(e) No Error

179. His account showed all (A)/money being withdrawn (B)/
that was credited as his account (C)/from his friend's
account in Vishakhapatnam. (D)/ No Error (E)
(a) A (b) B (c) C (d) D
(e) No Error

180. No sooner had the European Union (A)/conclude a long-
negotiated investment (B)/ agreement with China late (C)/
last year than criticism poured in. (D)/ No Error (E)
(a) A (b) B (c) C (d) D
(e) No Error

DIRECTIONS (Qs. 181-185): Rearrange the paragraph and
answer the following questions.

(A) In a deeply patriarchal society, generations of women have
had their own battles to fight.

(B) It would be derogatory to affix a monetary amount to the
labour, services and sacrifices of homemakers.

(C) Now it is the turn of the present generation of women to
provide for themselves and demand unemployment
allowance if, owing to circumstances, they need to stay at
home.

(D) But at the same time, the romanticization of the burden
that is put on the woman to demonstrate her love must
stop.

(E) Pioneering women in the 1950s broke the glass ceiling to
a great extent to pursue careers.

(F) The next generation established themselves as the second
bread earners in their families.

181. What is the THIRD sentence after rearrangement?
(a) F (b) D (c) E (d) A
(e) B

182. What is the SECOND sentence after rearrangement?
(a) F (b) A (c) C (d) E
(e) D

183. What is the FIFTH sentence after rearrangement?
(a) D (b) F (c) C (d) A
(e) B

184. What is the FOURTH sentence after rearrangement?
(a) E (b) D (c) C (d) F
(e) B

185. What is the SIXTH sentence after rearrangement?
(a) D (b) E (c) B (d) C
(e) F

DIRECTIONS (Qs. 186-190): In the given question, a word
has been mentioned and there are three ways in which the word
has been used in either similar or different ways. You are
required to check which of the sentences have correctly used
the highlighted word, and mark that as your answer.
186. Proximity

(I) The state government will add farmers, farm workers
and those in food processing who work in close
proximity with others to the vaccine priority list.

(II) For the best performance, large numbers of drives
can be connected and their data proximity into a
larger host interface.

(III) The launch of the world's smallest proximity sensor
gives manufacturers new ways to deliver a more
differentiated and higher value product to the
consumer.

(a) Only I (b) Only I and III
(c) Only I and II (d) Only III
(e) All are correct

187. Predate
(I) Prior to the operation, the government promulgated

a special predate to speed up legal proceedings.
(II) Brilliantly blue beads from Europe unearthed by

archaeologists in Arctic Alaska may predate
Christopher Columbus' arrival in the New World.

(III) None of them earn enough to afford household basics
for a family of four and these economic struggles
long predate COVID-19.

(a) Only II (b) Only I and II
(c) Only I and III (d) Only II and III
(e) All are correct

188. Vagueness
(I) Her extensive understanding of war's horror contrasts

with the ridiculous vagueness of her father's telegram
announcing Victor's wounding.

(II) As is usually the case with UFO surroundings, there
is enough intrigue and mystery and vagueness
surrounding the incident to create a buzz.

(III) The vagueness exists notwithstanding the fact that
government has from time to time suggested that is
does not consider digital currency to be legal.

(a) Only II (b) Only I and II
(c) Only III (d) Only I and III
(e) All are correct

189. Volatile
(I) Gold prices have been highly volatile off late with

gains on one day and decline the other day.
(II) Bitcoin doesn't behave like a payment instrument as

it's too volatile and takes too long to transact.
(III) Rejecting the quest for absolute certainty, it takes a

meliorist attitude that human action sometimes can
improve the world.

(a) Only I (b) Only II
(c) Both I and II (d) Both I and III
(e) All the above
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190. Ambiguity
(I) The amendment concerns an ambiguity regarding

the age of a person to be adopted for the purposes of
an adoption.

(II) Chinese gardens typically included a building for
scholarly ambiguity and meditation.

(III) Toshiba's November progress report has a key
ambiguity that leaves shareholders scratching their
heads.

(a) Both I and III (b) Only III
(c) Both II and III (d) Only II
(e) All the above

DIRECTIONS (Qs. 191-195): In each of the question below,
there is a word given in bold which is followed by the five
options. In each of the option, a pair of words is given which is
either the pair of synonyms or antonyms or synonym & antonym
of the word given in bold. Choose that pair as your answer.
191. Vigilance

(a) Observant, Fascinate (b) Perspective, Attitude
(c) Wariness, Distracted (d) Terminate, Watchful
(e) Include, Caution

192. Reiterate
(a) Yield, Permit (b) Solidify, Separate
(c) Approve, Encourage (d) Prominent, Obvious
(e) Repeat, Retell

193. Welter
(a) Differ, Disagree (b) Stormy, Unstable
(c) Concealed, Hidden (d) Deny, Confirm
(e) Scorn, Praise

194. Undergird
(a) Harmonious, Disguise (b) Beguile, Repel
(c) Acclaimed, Ionized (d) Support, Strengthen
(e) Competitive, Inexpensive

195. Resilience
(a) Enviable, Elasticity (b) Durability, Deadlock
(c) Fragility, Liberal (d) Pliability, Rigidity
(e) Vulnerability, Unrestricted

DIRECTIONS (Qs. 196-200): Select the phrase/connector out
of three phrases/connectors given as (i), (ii) and (iii) which can
be used in the beginning (to start the sentence) to form a single
sentence from the two or three statements given while implying
the same meaning as expressed in the statement sentences.
196. (I) Human rights is the next area where India and the

U.S. could be at odds both on the bilateral front and
in the region.

(II) Mr. Biden is committed to put human rights "at the
centre of Foreign Policy".

(i) Before Human rights is………….
(ii) Given Mr. Biden's commitment to…………….
(iii) Though Mr. Biden is……….
(a) Only iii (b) Only ii
(c) Only i (d) Both i and ii
(e) Both ii and iii

197. (I) Washington has stepped up sanctions and called for
the Suu Kyi-NLD government to be reinstated.

(II) New Delhi has spoken only for the "rule of law" and
democratic processes to be upheld.

(i) While Washington has ………..
(ii) Although Washington has……..
(iii) Meanwhile Washington has……….
(a) Only ii (b) Both i and iii
(c) Only i (d) Both ii and iii
(e) Both i and ii

198. (I) National Science Day, on February 28, is a moment
to celebrate the progress that India has made in
science and technology research.

(II) It is also an opportunity to ponder about the problems
that we face in research.

(i) Besides being an opportunity………….
(ii) Notwithstanding the National………..
(iii) An opportunity to ponder……….
(a) Only i (b) Only ii
(c) Only iii (d) Both i and iii
(e) Both i and ii

199. (I) The Centre has saved itself from continuing
embarrassment at the international level.

(II) It has withdrawn the Education Ministry's ill-
thought-out guidelines for holding online
conferences, seminars and training sessions.

(i) However, the Centre has saved………
(ii) Withdrawing the Education Ministry's…………
(iii) Saving itself from……….
(a) Only i (b) Only iii
(c) Both ii and iii (d) Both i and iii
(e) Both i and ii

200. (I) It was quite obvious that the claim of a global
conspiracy behind the unsavoury and violent
incidents that took place on January 26 in New Delhi
lacked credence.

(III) The order of bail is still notable for subjecting the
specific charges to strict judicial scrutiny at a fairly
early stage.

(i) Even though it was………..
(ii) While it was……….
(iii) Since the claim…………….
(a) Only i (b) Only ii
(c) Both i and ii (d) Both i and iii
(e) Both iii and ii

HINDI LANGUAGE

funZs'k (iz- la- 201&205)% uhps fn, x, x|ka'k dks i<+dj iwNs x,
ç'uksa  osQ lgh@lcls mfpr mÙkj okys fodYi dks pqfu,%

f'k{kk vkt nqfoèkk osQ vtc nksjkgs ij •M+h gSA ,d jkLrk pdkpkSaèk dk
gS] e`xr`".kk dk gSA ckt+kj dh e`xr`".kk f'k{kkFkhZ dks yksHk&ykyp nsdj
viuh rjiQ nkSM+krs jgus dks foo'k djus dks mrk: •M+h gSA ckt+kj osQ
bu yypkus okys jkLrksa ij vkd"kZ.k gS] pdkpkSaèk gS vkSj lEeksfgr dj
nsus okys lius gSaA nwljh rjiQ f'k{kk dk lkèkuk ekxZ gS tks 'kkafr ns ldrk
gS] larks"k ns ldrk gS vkSj gekjs vkRerRo dks çcy djrk gqvk foey
foosd ns ldrk gSA fuf'pr gh og ekxZ Js;Ldj gS] exj viuh vksj
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vkdf"kZr djus okys ck”kkj dk ekxZ çs;Ldj gSA bl nksjkgs ij •M+k
f'k{kkFkhZ ck”kkj dks pqu ysrk gSA yk•ksa&djksM+ksa yksx vkt blh jkLrs osQ
ykyp esa vk x, gSa vkSj f'k{kk osQ Hk¡ojtky esa iQ¡l x, gSaA ck”kkj dh
•wch ;gh gS fd og i¡Qlus dk vglkl fdlh dks ugha gksus nsrk vkSj
euq"; yxkrkj iQ¡lrk pyk tkrk gSA fdlh dks ;g eglwl ugha gksrk fd
og nyny esa gS cfYd eglwl ;g gksrk gS fd ck”kkj }kjk fn, x,
iSosQt osQ dkj.k og lq•h gSA vc ;g vyx ckr gS fd lPpk lq• D;k
gS\ vkSj lq• dk Hkze D;k gS\ ”k:jr fopkj djus dh gSA loky ;g gS
fd ck”kkj fopkj djus dk Hkh vodk'k nsrk gS ;k fd ughaA
201- ys•d us f'k{kk osQ lanHkZ esa fdl ckr dks egRo fn;k gS\

(a) lkèkuk dks (b) foosd dks
(c) f'k{kkFkhZ dks (d) ck”kkj dks
(e) buesa ls dksbZ ugha

202- ¶nwljh rjiQ f'k{kk dk lkèkuk ekxZ gŞ  & rks igyh rjiQ D;k gS\
(a) ,d vPNk iSosQt vkSj lq•&'kkafr
(b) nyny esa iQ¡ls gksus dk vglkl
(c) nqfoèkk dk nksjkgk vkSj HkVdko
(d) ck”kkj dh pdkpkSaèk] lEeksgu vkSj lius
(e) buesa ls dksbZ ugha

203- fuEu esa ls dkSu&lh fo'ks"krk ck”kkj dh ugha gS\
(a) ck”kkj lq•h gksus dk Hkze iSnk djrk gSA
(b) ck”kkj yksxksa dks lq•&'kkafr nsrk gSA
(c) ck”kkj yksxksa dks vius vkd"kZ.k ls ck¡èkrk gSA
(d) ck”kkj ,d nyny dh rjg gSA
(e) buesa ls dksbZ ughaa

204- x|ka'k osQ vuqlkj yksx ckt+kj dks pqurs gSa] D;ksafd%
(a) yksxksa osQ ikl èku&laifÙk dh deh gS
(b) yksx ck”kkj ls çse djrs gSa
(c) lHkh yksx ykyph gSa
(d) ck”kkj esa vkd"kZ.k gS
(e) buesa ls dksbZ ugha

205- x|ka'k osQ vkèkkj ij dgk tk ldrk gS fd %
(a) yksx lkalkfjd thou thuk ilan djrs gSa
(b) yksx nwljksa dks Bxus esa vkuafnr gksrs gSa
(c) HkkSfrdrkoknh lksp gkoh ugha gks jgh gS
(d) HkkSfrdrkoknh lksp gkoh gks jgh gS
(e) buesa ls dksbZ ugha

funsZ'k (iz-la- 206&210)% fn, x, x|ka'k dks è;kuiwoZd if<+, vkSj
uhps  fn, x, iz'uksa dk mÙkj nhft,A

tgka rd eSa le>rk gw¡] esjh vkfRed 'kfDr;ksa ds fodkl esa ckflZyksuk
vkSj mlds fuokfl;ksa dk lcls lqanj fp=k.k Hkh lgk;d ugha gks ldrk
FkkA L;ksEdk vkSj isQn~dk dks ihVlZcxZ ds tyekxks± dks tkuus dh D;k
t:jr gS] vxj tSlh fd laHkkouk gS] os ogka dHkh ugha tk ik,axs\ vxj
L;ksEdk dk ogka dHkh tkuk gqvk Hkh] rks mls blls dksbZ iQdZ ugha iM+sxk
fd mlus Ldwy esa i<+k Fkk ;k ugha] D;ksafd bu tyekxks± dks og O;ogkj
esa tku gh tk,xk vkSj vPNh rjg tku tk,xkA eSa ugha le> ldrk fd
mldh vkfRed 'kfDr;ksa ds fodkl esa bl ckr dh tkudkjh ls dksbZ
enn fey ldrh gS fd oksYxk esa lu ls yns tgkt uhps dh vksj tkrs
gSa vkSj vydrjs ls yns tgkt mQij dh vksj_ fd nqcksCdk uke dk ,d

canjxkg gS_ fd iQyk¡ Hkwfexr ijr iQyk¡ txg rd tkrh gS_ fd lkeks;sn
yksx ckjgflaxk xkfM+;ksa ij liQj djrs gSa] oxSjg&oxSjgA
206- L;ksEdk vkSj isQn~dk gSa

(a) deZpkfj;ksa ds uke (b) 'kgjksa ds uke
(c) f'k{kdksa ds uke (d) tkuojksa ds uke
(e) fo|kfFkZ;ksa ds uke

207- ys[kd ds vuqlkj og i<+kbZ fujFkZd gS
(a) ftlesa tyekxks± ds ckjs esa ugha i<+k;k tkrk
(b) tkudkjh ugha nh tkrh
(c) tks canjxkgksa ds ckjs esa u crk,
(d) ftldk mi;ksx cPps ges'kk djrs gksa
(e) ftldk mi;ksx cPps vius jkstejkZ ds thou esa u djrs gksa

208- ^fuoklh* dk cgqopu :i gS
(a) fuoklksa (b) fuoklh
(c) fuokfl,¡ (d) fuoklsa
(e) fuokfl;ksa

209- fuEufyf[kr esa ls dkSu&lk ̂ fp=k.k* ds fy, mi;qDr fo'ks"k.k ugha gS\
(a) lkSan;Z (b) dykRed
(c) lqanj (d) euksgkjh
(e) dksbZ =kqfV ugha

210- ^iQdZ* dk lekukFkhZ gS
(a) gkfu (b) izHkkodkjh
(c) vljnkj (d) ykHk
(e) varj

funsZ'k (iz-la- 211&215) % uhps fn, x, ifjPNsn esa dqN fjDr LFkku
NksM+ fn, x, gSa rFkk mUgsa ç'u la[;k esa n'kkZ;k x;k gSA ;s la[;k,¡
ifjPNsn ds uhps eqfær gSa] vkSj çR;sd ds lkeus (a), (b), (c), (d) vkSj
(e) fodYi fn, x, gSaA bu pkj esa ls dksbZ ,d bl fjDr LFkku dks iwjs
ifjPNsn ds lanHkZ esa mi;qDr <ax ls iwjk dj nsrk gSA vkidks og fodYi
Kku djuk gS] vkSj bldk Øekad gh mÙkj ds :i esa n'kkZuk gSA fn, x,
esa ls mi;qDr fodYi dk p;u djuk gSA

bZ'oj dh loZJs"B ekuo tc ìFoh ij vorfjr gqvk rks ;g yksd mlds
fy, dkSrwgy vkSj vk'p;Z dk fo"k; Fkk ysfdu ekuo dh vko'drk,¡
lhfer FkhaA [kkus&ihus ds fy, Hkjiwj (211) vkSj ty Ik`Foh Ikj miyC/
FkkA èkhjs&èkhjs ekuo lewg vyx&vyx vusd ifjokjksa ds :Ik esa Ikfjf.kr
gks x;kA fodkl dk ifg;k vkxs c<+rk jgkA dbZ ifjokjksa ds feyus ls
xzkeksa us cM+s&cM+s xzkeksa dh 'kDy ysuk 'kq: dj fn;kA ekuo dk ljy
thou tfVy curk x;kA vf/dkfjd (212) dh bPNk us Li¼kZ dks
tUe fn;kA vc ekuo HkkSfrd lk/uksa dh izkfIr ds fy, vkil esa yM+us
yxs tks dHkh&dHkh cM+h yM+kb;ksa ds :i esa lkeus vkus yxhA tc bl
rjg dh ?kVuk,¡ c<+rh xbZa rks dgk tkrk gS fd lekt ds dqN cqf¼eku
yksx czg~ek th ds ikl igq¡psA czg~ek th us bl (213) ls eqfDr ds fy,
mUgsa vius chp ls ,d jktk dk pquko djus lq>ko fn;kA bl rjg jktk
dk tUe gqvkA ekuo fdlh [kkl O;fDr ds vkns'kksa vkSj funsZ'kksa dk
ikyu djus yxkA vc ekuo dk ifjp; fo'ks"k {ks=k vkSj (214) ds lkFk
tqM+rk x;kA ukxfjdrk dk tUe gqvk ysfdu bls Bhd <ax ls le>us dk
dk;Z vk/qfud ;qx esa gh laHko gks ldkA euq"; ,d lkekftd Ikzk.kh gS
vr% mlesa ,d lH; ukxfjd ds xq.k vo'; gksus pkfg,A (215) dk
ewy ea=k gS&ft;ks vkSj thus nksA izR;sd ukxfjd dks bl ea=k dks vius
thou esa vo'; mrkjuk pkfg,A
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211- (a) iQy&IkQwy (b) ekal&eNyh
(c) dUn&ewy (d) esok&fe"Bku
(e) lkx&lCth

212- (a) vkjke&ryc (b) lq[k&le`f¼
(c) Hkksx&foykl (d) vknj&lEeku
(e) dke&Øksèk

213- (a) foMacuk (b) vlg;ksx
(c) laØe.k (d) vjktdrk
(e) lg;ksx

214- (a) euq"; (b) Ikfjokj
(c) lekt (d) 'kkld
(e) laLÑr

215- (a) ukxfjdrk (b) lkekftdrk
(c) O;fDrokfnrk (d) lPpkbZ
(e) cqjkbZ

funZs'k (iz- la 216&220)% okD; ds v'kq¼ Hkkx dk p;u djsaA

216. Hkkjrh; 'kkfUr lsuk ds lSfudksa esa ls (a)/ lHkh us vius dÙkZO; dk
ikyu (b)@ cM+h bZekunkjh ls fd;k gSA (c) @ dksbZ =kqfV ugha (d)
@ mijksDr lHkh esa (e)

217. jk"Vªh; fopkj/kjk  dk mUur :i (a)/ gesa f}osnh ;qx dh (b)@
dfork esa feyrk gSA (c) @ dksbZ =kqfV ugha (d) @ mijksDr lHkh esa (e)

218. MkWDVj ds dgus ij (a)/ eSaus 'kke lqcg yEch lSj (b)@ ij tkuk
'kq: dj fn;kA (c) @ dksbZ =kqfV ugha (d) @ mijksDr lHkh esa (e)

219. eSa vkSj esjk fe=k (a)/ laè;kdky ds le; (b)@ mlls feyus
tk;saxsA (c) @ dksbZ =kqfV ugha (d) @ mijksDr lHkh esa (e)

220. ge eafnj (a)/ ds vanj x;s (b)@ rks ogk¡ cgqr HkhM+ FkhA (c) @ dksbZ

=kqfV ugha (d) @ mijksDr lHkh esa (e)

funZs'k (iz-la-  221-225) : uhps (A), (B), (C), (D), (E) vkSj (F) esa N%
dFku fn, x, gSaA bu Ngksa dFkuksa dks bl rjg O;ofLFkr dfj, fd muls
,d vFkZi.kZ ifjPNsn cu tk,A fiQj mlds ckn fn, x, iz'uksa ds mÙkj
nhft, A

(A) mlus dkWiQh okys dks dqN dgk vkSj nl dk uksV fn;kA
(B) cPph us b'kkjs ls dqN dgkA
(C) dkWiQh okys us vthc lh eqLdku iQsadh vkSj cM+cM+k;k vc ns[kuk]

lkjk dquck vk /edsxkA
(D) utj ?kqekbZ rks ,d NksVh lh cPph Fkh] Hkksyk psgjk] my>s cky vkSj

iQVs diM+sA
(E) LVs'ku ij mlds dkWiQh okys ls dkWiQh [kjhnh vkSj [kM+s [kM+s ihus

yxkA
(F) mlus eglwl fd;k fd fdlh us cxy ls mlds dqrZs dks [khapk
221.iquO;ZoLFkk ds ckn igyk okD; dkSu lk gksxk\

(a) A (b) F (c) E (d) C
(e) B

222.iquO;ZoLFkk ds ckn rhljk okD; dkSUk&lk gksxk\
(a) D (b) B (c) F (d) C
(e) A

223.iquO;ZoLFkk ds ckn nwljk okD; dkSUk&lk gksxk\
(a) D (b) B (c) C (d) F
(e) E

224.iquO;ZoLFkk ds ckn ikapoka okD; dkSUk&lk gksxk\
(a) D (b) A (c) B (d) C
(e) C

225.iquO;ZoLFkk ds ckn pkSFkk okD; dkSUk&lk gksxk\
(a) D (b) F (c) C (d) B
(e) A

funZs'k (iz- la- 226&230)% uhps fn, x, izR;sd iz'u esa ,d
fjDr&LFkku NwVk gqvk gS vkSj mlds uhps pkj 'kCn lq>k, x, gSA buesa
ls dksbZ ,d ml fjDr&LFkku ij j[k nsus ls og okD; ,d vFkZiw.kZ okD;
cu tkrk gSA lgh 'kCn Kkr dj mldks mÙkj ds :Ik esa vafdr dhft,A
fn, x, 'kCnksa esa ls lokZfèkd mi;qDr dk p;u djuk gSA

226- jkekuUn th ------------------- gSaA
(a) lTtku iq#"k (b) lTtu Ikq#"k
(c) cM+s lTtu (d) cM+s lTtku
(e) cgqr lTtu

227- bl ---------------------IkfjfLFkfr esa vkidh lgk;rk djuk dfBu gSA
(a) fo"ke (b) xEHkhj
(c) rh{.k (d) dfBu
(e) vuqdwy

228- iou ---------------------- gS
(a) cgrk (b) pyrk
(c) pyrh (d) vkrh
(e) vkrk

229- fu/Zurk ls ihfM+r cspkjs eksgu ds izk.k fudy ----------------------A
(a) x, (b) x;k
(c) ldk (d) vk;k
(e) ik;k

230- egkRek cq¼ us yksxksa dks vfgalk dk ---------------------fn;kA
(a) lans'k (b) f'k{kk
(c) dwV (d) mins'k
(e) ekxZ

funsZ'k (iz- la- 231&233)% uhps dqN 'kCn fn, x, gSaA izR;sd dh
orZuh ds fy, pkj fodYi fn, x, gSaA buesa ls ,d fodYi esa 'kCn dh
'kq¼ orZuh nh xbZA vkidksa ml 'kq¼ orZuh dk p;u djuk gSA

231.(a) vu;Fkk (b) va;Fkk
(c) vU;Fkk (d) vkU;Fkk
(e) vuk;Fkk

232.(a) nqUnqHkh (b) nwUnqfHk
(c) nqUnwHkh (d) nwUnqHkh
(e) nwUnwHkh

233.(a) egkefge (b) ekgkefge
(c) egkeghe (d) ekgkeghe
(e) ekgkekghe
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Sol (1-5) :

Ranjan
Garg

Raj Goyal

Rohit
Girish

Raju
GopalRam Gaur

Ravi
Gail

Rahul
Guman

Ritesh
Gandhi

1. (a) We can say that Raj has surname Goyal.
2. (d) We can say that Ravi sits second to the right of Raju.
3. (b) We can say that Rahul is sitting third to the right of

the one, who is sitting second to the left of the one,
whose surname is Gandhi.

4. (c) We can say that Ravi Gaur is the one that does not
belong to the group because of all the options Ravi
Gaur is the only option in which name and surname
is of adjacent persons.

5. (d) We can say that both Ranjan and Rohit are the
neighbours of Raj.

Sol. (6-10) :

B

H

F

A

C

G

E

D

6. (c) D is second to the right of H.
7. (c) CB does not belong to the group.
8. (b) B sits second to the left of the one who is on the

immediate right of D.
9. (d) In the following common explanation it is clear that

H sits between B and F.
10. (c) In the following common explanation it is clear that

G sits third to right of the one who sits opposite of C.

funZs'k (ç- la- 234&236) % uhps fy[ks iz'uksa esa fn;s x;s 'kCnksa ds
foykse crkb;sA

234.nqtZu
(a) lqtu (b) lTtu
(c) ifjtu (d) lktu
(e) vtZu

235. ^Ñi.k* dk mi;qDr foykse 'kCn pqusaA
(a) ijksidkjh (b) nkuh
(c) fHk[kkjh (d) LokFkhZ
(e) vi.kZ

236. ^yf?kek* dk mi;qDr foykse gksxk%
(a) y?kqRo (b) xq#Ro
(c) efgek (d) xfjek
(e) mijksDr esa ls dksbZ ugha

funZs'k (ç- la- 237&238)% fuEufyf[kr iz'uksa esa izR;sd eqgkojs ds
vFkZ ds fy, pkj fodYi fn, x, gSaA buesa ls mfpr fodYi dk p;u
dhft,%

237.xkxj esa lkxj Hkjuk
(a) ljl nksgksa dh jpuk djuk
(b) ew[kZrkiw.kZ dk;Z djuk

(c) vlEHko dke djuk
(d) FkksMs+ 'kCnksa esa vf/d dguk
(e) mijksDr esa ls dksbZ ugha

238.xhnM+ HkHkdh nsuk
(a) Mhax gk¡duk
(b) >wBk Mj fn[kkuk
(c) cM+k&p<+k dj crkuk
(d) {kerk ls ckgj dk;Z djuk
(e) mijksDr esa ls dksbZ ugha

funZs'k (iz- la- 239-240): fuEufyf[kr vusd 'kCnksa ds fy, ,d 'kCn
nsuk gSA izR;sd ds fy, pkj fodYi 'kCn fn, x, gSa] mi;qDr 'kCn dk
p;u djsaA

239.tks lnk nwljksa ij lansg djrk gSA
(a) >xM+kyw (b) n;kyq
(c) bZ";kZyw (d) 'kadkyq
(e) mijksDr esa ls dksbZ ugha

240.vk;q esa cM+k O;fDrA
(a) dfu"B (b) ofj"B
(c) T;s"B (d) iwtuh;
(e) mijksDr esa ls dksbZ ugha
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Sol. (11-15) :

Rack Box
7 Box P
6 Box T
5 Box Q
4 Box U
3 Box S
2 Box R
1 Box V

11. (a) Box Q is placed exactly between Box T and Box U.
12. (d) 4 boxes are placed between Box P and Box R.
13. (d) Clearly, Box V is placed in the lowermost rack.
14. (b) Following common explanation, it’s evident that

statement given as option (b) (Box Q) is placed in
rack 5 is true.

15. (b) Clearly, there is only one box between S and V.
So. (16-20) :

Floor No. Person No. of members
7 Anil 2
6 Vivek 4
5 Chandan 6
4 Deepak/ Farhan 1
3 Eshwar 2
2 Deepak/ Farhan 1
1 Ganesh 3

16. (a) Chandan lives on fifth floor.
17. (b) Anil’s family consists of 2 members including him.
18. (d) Ganesh’s family consists of total three members.
19. (c) Only 1 person between Eshwar and Ganesh.
20. (d) 7-Anil-2 is the only correct combination here.
Sol. (21-24) :

Month 22nd 27th
March (31) Kumar Ram
April (30) David, Kamal Ajay, Ganguly
May (31) Sam, Binod Amar

21. (e) David and Kamal both have exams on 22nd April.
22. (d) Ram, Ajay, Ganguly and Amar all of have exams on

27th but Sam has on 22nd.
23. (c) Binod attempts exam on 22nd May.
24. (d) Sam and Binod attempts exam just before Amar.
Sol. (25-29) :

1. The digit in the code represents the no. of letters in
the word.

2. Symbols & code -

No. of letter in the word Symbols
2 ^
3 %
4 @
5 #
6 $
7 &
8 *
9  = 

3. The letter in the code represents the first vowel from
left end in the given word.

25. (c) “Remember Disha” will be coded as “8*E 5#I”.
26. (e) The code of “Wealth” is “6$E”.
27. (d) “Climatic condition” will be coded as “8*I 9=O”.
28. (a) “Comedy” will be coded as “6$O”.
29. (e) “East” will be coded as “4@E”.
30. (c) We have, the given word = POCKETBOOK

P   O   C   K   E   T   B   O   O   K

31. (d) Using the given information we can draw a following
figure :

40 m

50 m

Deepak's

point
Deepak's
starting
point

50 m

70 m

30 m

10 m
20 m

30 m final

Here, the shortest distance of Deepak’s starting point
and final point

2 2(30) (40) 50 m,= + =

and Deepak is in northeast direction with respect to
his starting point.

32. (b) Using the figure of previous solution's :
Here, the total distance travelled by Deepak in south
direction during the entire journey is
(30 + 10) m = 40 m.
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33. (d)

PC = Patel Chowk
UB = Udyog Bhawan
CS = Central Secretariat

6 
+ 

7 
= 

13
 K

m

8 Km
6 Km

8 Km
CS

UB

INA

AIIMS

Metro YardRajiv
Chowk

5 Km

13 Km

Saket 7 Km

5 Km

12
 K

m 13 Km

20 Km

PC

Distance between Metro Yard and PC

2 2(5) (12) 13 Km= + = , North west.

34. (d) Series Pattern Given Series
639 639
639 + (6 + 3 + 9) = 657
657 + (6 + 5 + 7) = 675
675 + (6 + 7 + 5) = 693
693 + (6 + 9 + 3) = 711
711 + (7 + 1 + 1) = 720

Sol. (35-37) :

Highests &
Oldest

Height Weight

Rimpu
Manu
Bharat
Prakash
Kiara
Komal
Shipra

Komal
Manu

Prakash
Bharat
Rimpu
Shipra
Kiara

Lowest &
Youngest

35. (d) We can say that Shipra is the second lightest.
36. (a) We can say that no one is heavier than the one who is

second shortest.
37. (c) We can say that  Komal is the heaviest.
Sol. (38-40) :

[] - Couples
{} - Siblings

[Shalu  Bala ]+ –

[Gopi {Chand ]
+ –

[Honey } Geet ]
+ –

Kinjal {Bittu    Jassi }
+ –

38. (e) We can say that we cannot determine the relation
between Bala and Kinjal  as Kinjal can be either
grandson or granddaughter of Bala.

39. (c) According to the above given final solution we can
say that Shalu’s son in law is the Brother in law of
Geet’s husband.

40. (e) According to the above given final solution we can
say that Bala is the one that does not belong to the
group because all the members in the other options
belong to the second generation of the family, but Bala
belongs to first generation of the family.

41. (c) 23 (126 392 7 –162 14 ) ?+ ¸ + =

3 (126 56 –162 196) ?Þ + + =

3 (378 –162)Þ

3 216Þ
? 6Þ =

42. (d) 140% of 200 + 
2 216 –12 – 7 ?

2
=

256 –144280 – 7 ?
2

= + =

280 56 – 7 ?= + =
336 – 7 ?Þ =
? 329.Þ =

43. (b)
63 576 – 729 ?

7 3
´ =

´

63? 24 – 27
7 3

Þ = ´
´

( )? 72 – 27 ? 45Þ = Þ =

2? (45) 2025.\ = =

44. (e)
1 2 1 13 7 – 4 ? 2
6 3 4 6
+ = +

1 2 1 13 7 – 4 – 2 ?
6 3 4 6

= + =

1 2 1 1
? (3 7 – 4 – 2) – –

6 3 4 6
æ öÞ = + + +ç ÷è ø

2 8 – 3 – 2? 4
12

+
Þ = +

\ 
5 5? 4 4 .

12 12
= + =

45. (d) 1366 + 336 – 666 – 33 + 333 = ?
\ 1336 = ?
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Sol.  (46-50):

Monday Tuesday Wednesday Thursday Friday
Tata 180 150 250 150 180
Renault 160 220 200 180 140
Maruti 200 200 300 250 200

540 570 750 580 520

46. (b) Required ratio =
540 18 : 25
750

=

47.  (a) Total number of cars produced by Renault from
monday to Friday = 900

48. (e) Required average 
1150 230

5
= =

49. (c) No. of cars produced on Tuesday and Thursday is
same i.e. 150.

50. (c) Maximum number of cars produced = 750, on
Wednesday.

51. (b) Series pattern of the given series :
13, 15, 21, 33, 53, 83

+(1×2) +(2×3) +(3×4) +(4×5) +(5×6)

52. (b) Series Pattern Given Series
2 2

2 × 2 4
4 × 3 12

12 × 5 60
60 × 7 420

420 × 11 4620
53. (a) Series Pattern

Series I :     9      13      22      36      55      79
Series II :      +4     +9     +14    +19    +24
Series III :        +5     +5       +5      +5

54. (d) Series Pattern Given Series
7 7

7 × 2 – 1 13
13 × 2 – 1 25
25 × 2 – 1 49
49 × 2 – 1 97
97 × 2 – 1 193

55. (a) Series Pattern Given Series
50 50

50 + 17 67
67 – 34 33
33 + 51 84
84 – 68 16
16 + 85 101

56. (e) Case I :
Time taken by Deepak (using Ship B)

675 675
12.5 hrs.

39 15 54
= = =

+
Case II:
Time taken by Shivam (using Ship D + Ship E)

510 165 10.01 3.437 13.447 hrs.
31 19.5 36 12

= + = + =
+ +

Here Case I < Case II.
57. (b) Case I :

Speed of Ship F = 45 × 111.11% = 50 km/hr.
Speed of stream for Ship F = 12 × 12.5% = 15 km/hr.
Time taken by ship F to cover 1860 km (upstream)

2625 2625 75 hours
50 15 35

= = =
-

Case II :
Time taken by Ship C to cover 1860 km (upstream)

1860 77.5 hours
24

= =

58. (d) New distance = 3000 × 125% = 3750 km.
Case I :
Time taken by Ship C to cover new distance
(Upstream)

3750 20% 750  hours
24 24
´

= =

Case II :
Time taken by Ship A to cover old distance
(downstream)

750 125  hours
54 9

= =

59. (c) Time taken by Ship B (in downstream)

450 150  hours
54 18

= =

Time taken by Ship A (in downstream)

750 250  hours
54 18

= =

Time taken by Ship B + Ship A

250 150 400  hours = 22.22 hours
18 18 18

= + =

Time taken by Ship E (in upstream)

660 55  hours = 27.5 hours.
24 2

= =

Time taken by Ship B and A (in downstream) is perfect
more or less than time taken by Ship E (in upstream)

22.22 27.5 100 19.2%
27.5
´

= ´ = -

60. (e) Case I :
Time taken by Ship A (upstream)

750 125 hours
12 2

= =

Time taken by Ship B (upstream)

450 75 hours
24 4

= =
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Time taken by Ship C (upstream)

600 25 hours
24

= =

Time taken by Ship D (upstream)

540 25 hours
11.5

= =

Time taken by Ship E (upstream)

660 55 hours
24 2

= =

After adding all the times we get = 180.70 hours

Average time 
180.70 36.14 hours

5
= =

61. (e)

I. 25 11 –12 0p p+ =

25 15 – 4 –12 0p p pÞ + =

5 ( 3) – 4( 3) 0p p pÞ + + =

(5 – 4)( 3) 0p pÞ + =

4 , – 3
5

pÞ =

II. 24 –13 –12 0q q =

24 –16 3 –12 0q q qÞ + =

4 ( – 4) 3( – 4) 0q q qÞ + =

(4 3)( – 4) 0q qÞ + =

3– , 4
4

qÞ =

While comparing the root values of p and q, we find
that one root value of q lies betwen the root values of p.
Therefore, relationship between p and q can’t be
determined.

62. (d)

I. 23 19 30 0+ + =p p

23 9 10 30 0Þ + + + =p p p

3 ( 3) 10( 3) 0Þ + + + =p p p

(3 10)( 3) 0Þ + + =p p

10– , – 3
3

pÞ =

II. 23 – 20 – 32 0q q =

23 – 24 4 – 32 0q q qÞ + =

3 ( – 8) 4( – 8) 0q q qÞ + =

(3 4)( – 8) 0q qÞ + =

4– , 8
3

qÞ =

While comparing the root values p and q,  we  find
that root values p is less than q’s.
Therefore, p < q.

63. (e)

I. 2 – 4 7 21 0p p+ =

2 – 7 – 3 7 21 0p p pÞ + =

( – 7) – 3 7( – 7) 0p p pÞ =

( – 7)( – 3 7) 0p pÞ =

7, 3 7Þ =p

II. 22 – 8 5 – 50 0q q =
Taking 2 as a common term, we get

2 – 4 5 – 25 0q qÞ =

2 5 – 5 5 – 25 0q q qÞ + =

( 5) 5 5( 5) 0Þ + - + =q q q

( 5)( – 5 5) 0q qÞ + =

– 5, 5 5qÞ =
While comparing the root values of p and q, we find
that root values of q lies between the q’s root values.
Therefore, relation between p and q can’t be
determined.

64. (a)

I. 2 – 52 667 0p p+ =

2 – 23 – 29 667 0p p pÞ + =

( – 23) – 29( – 23) 0p p pÞ =

( – 23)( – 29) 0p pÞ =

23, 29pÞ =

II. 2 8 – 33 0q q+ =

2 – 3 11 – 33 0q q qÞ + =

( – 3) 11( – 3) 0q q qÞ + =

( – 3)( 11) 0q qÞ + =

3, –11qÞ =
Therefore, p > q.

65. (a)

I. 2 –13 2 60 0p p+ =

2 –10 2 – 3 2 60 0p p pÞ + =

( –10 2) – 3 2( –10 2) 0p p pÞ =
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( – 3 2)( –10 2) 0p pÞ =

3 2,10 2Þ =p

II. 2 3 5 20 0+ - =q q

2 4 5 – 5 – 20 0q q qÞ + =

( 4 5) – 5( 4 5) 0q q qÞ + + =

( – 5)( 4 5) 0q qÞ + =

–4 5, 5qÞ =
While comparing the root values of p and q, we find
that the p’s root values are greater than q’s.

66. (b) Let, time taken by pipe X and pipe Y to fill the tank
= n minutes

1 1
1

20 30
æ ö´ + =ç ÷è ø

n

3 2 51 1
60 60
+

Þ ´ = Þ =
nn

60 12 minutes
5

Þ = Þ =n n

Let the waste pipe can empty the tank in t minutes.
According to the question,

12 12 12 2.4 2.4– 1
20 30 20 30t

+ + + =

14.4 14.4 12– 1
20 30 t

Þ + =

43.2 28.8 12– 1
60 t
+

Þ =

72 12 6 12–1 1
60 5t t

Þ = Þ - =

6 – 5 12 1 12
5 5t t

Þ = Þ =

60Þ =t  minutes
67. (d) LCM of 20, 15 and 30 = 60

Total work = 60 units

60 3
20

= =M  units per day

60 4
15

= =N units per day

60 2
30

= =T  units per day

Work completed in 2 days = 3 + 4 + 2 = 9 units
Part of the work completed in (2 × 6 = 12 days)
=  9 × 6 = 54 units.
Remaining = 60 – 54 = 6 units

Remaining work completed by M and N = 
6
7

Total number of days 
6 612 12 days
7 7

= + =

(Or)

1 2
=

N T
...(i)

1 1 1
10

+ =
N T

...(ii)

From (i) and (ii)

2 1 1 3 1
10 10

+ = Þ =
T T T

1 1
30

Þ =
T

From (i)

1 2 1 1
30 15

= Þ =
N N

      And    
1 1

20
=

M
Part of the work completed in 2 days

1 1 1 3 4 2 9 3
20 15 30 60 60 20

+ +æ ö= + + = = =ç ÷è ø

Part of the work completed in (2 × 6 = 12 days)

3 18
6

20 20
= ´ =

Remaining work 
18 20 – 18 2 11 –
20 20 20 10

= = = =

Let, time taken by M and N to complete remaining
part of the work =  n days

1 1 1
20 15 10

æ ö´ + =ç ÷è ø
n

3 4 1 60 1
60 10 7 10
+

Þ ´ = Þ = ´n n

6
 days

7
Þ =n

Required number of days = 
6 6

12 12 days
7 7

+ =

68. (e) Boat in off condition, ship moves due to stream,

Speed of stream 
400 100

m/s = 4 km/hr
360 90

= =

Distance between A and B = 1.44 km
Total time = 9 minutes

Downstream + Upstream 
9 3

 hr.
60 20

= =

1.44 1.44 3
4 4 20

æ ö æ ö+ =ç ÷ ç ÷è ø è ø+ -S S
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By solving, 210 –192 –160 0S S =
210 8 – 200 –160 0S S SÞ + =

(10 8) – 20(10 8) 0S S SÞ + + =

( – 20)(10 8) 0S SÞ + =

20 km/hr.Þ =S
69. (b) Let us take the speed of boat and speed of stream be

S1 and S2 respectively.

1 2 25+ =S S

1 2 5- =S S
Say, distance between X and Y is ‘D’ and so distance

between Y and Z is 
2
D

X goes to Y downstream and comeback from Y to Z
upstream

/ 2
14 14

25 5 25 10
+ = Þ + =

D D D D

100 kmÞ =D
70. (e) Let the principle be P.

Plan 1 : SI at 50% p.a. for one and half years

Amount 
3( 50 100)
2

P P= + ´ ´ ´

(1 0.75) 1.75 175% of = + = =P P P
Plan 2 : CI at 50% per annum for one and half years
compounded half yearly.
R = 25%; n = 3 (since compounded half yearly)
Amount = P [1 + (r/100)]n = P[1+(25/100)]3
= 1.95P = 195% of P
So Plan 2 is better and we are getting 20 percent more.

71. (b) Let the cost price of shirt P be x.
So marked price of shirt P = 1.5x = Cost price of Q
Let selling price of P be y
So, selling price of Q = 2y
Total profit percent = 50%
(SPA + SPB)/(CPA + CPB) = 150 / 100

( 2 ) 3 2.5
( 1.5 ) 2 2

+
Þ = Þ =

+
y y y

x x x

1.25Þ =y x
So, selling price of P = 1.25x
Discount offered
= (MP – SP)/MP×100 = 0.25/1.5×100 = 16.67%.

72. (c) Let X be the amount invested by Rahul
Vijay = X + 300

Lalit = 
3
2

xæ ö ´ç ÷è ø  = 1.5X

Profit share of Rahul = (X × 3.5) = 3.5X
Profit share of Vijay = 10×(X+300) = 10X + 3000

Profit share of Lalit = 6 × 1.5X = 9X

Lalit’s share 
36

100
= × Total

36
9 (3.5 10 3000 9 )

100
X X X Xæ ö= ´ + + +ç ÷è ø

1
(22.5 3000)

25
X Xæ ö= ´ +ç ÷è ø

25 22.5 3000X X= +
2.5 3000 1200X X= Þ =
Vijay = X + 300 = 1500

73. (c) Let x be the quantity of pure alcohol initially.
From this, one quarter is replaced with water.
Alcohol = 3x/4; Water = x/4
From this, 20 litres taken out in which 15 litres is
pure Alcohol and 5 litres is water.
Alcohol = (3x/4) – 15; Water = x – 5
Now 15 litres of water is added.
Alcohol = 3x/4; Total = x – 5
Percentage of Alcohol = 80%

3 / 4 80 80 litres.
– 5 100

x x
x

= Þ =

74. (d) Let  F,  M  and  D  be  the  ages  of  father,  mother  and
daughter respectively.
By data, F + M + D = 3 × 34 = 102
(D + 4) = (M + 4)/2

2 8 4 2 4Þ + = + Þ = +D M M D
Applying in above equation,
F + 2D + 4 + D = 102
F + 3D = 98 ....(1)
Also,
(F – 10) / (D – 10) = 17/4
4F – 40 = 17D – 170
17D – 4F = 130 ...(2)
(1) × 4; 4F + 12D = 392
Adding both, 17D + 12D = 130 + 392
29 522 18 yearsD D= Þ =
F = 98 – (3 × 18) = 44
M = 40
At the time of daughter’s birth father’s age
= 44 – 18 = 26
Mother’s age = 40 – 18 = 22
Sum = 26 + 22 = 48

75. (e) Let G, R and B be the number of green, red and black
balls respectively.
G + R + B = 15
P (two balls are green) = 2/21
G × (G – 1)/(15×14) = 2/21
G2 – G = 20

2 20 0G G- - =
2 5 4 20 0G G G- + - =
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( 5) 4( 5) 0G G G- + - =

( 4) ( 5) 0G G+ ´ - =
G = 5, –4 (-ve value will be neglected)
G = 5
R + B = 10
P (Either red or black) = 10/15 = 2/3

76. (e) Required answer = (354 – 258) + 235 = 96 + 235 = 331.
77. (b) Unsuccessful candidates (state Rajasthan)

Year 2016 445 354 91Þ - =
Year 2017 Þ  545 – 435 = 110
Year 2018 Þ  664 – 454 = 210
Year 2019 Þ  345 – 144 = 201
Year 2020 Þ  584 – 354 = 230
Year 2021 Þ  704 – 347 = 357

78. (a) Required ratio = 693 : 252 = 11 : 4.
79. (e) In year 2017, no. of candidates who passed the exam

in Rajasthan = 435
In year 2020, no. of candidates who appeared in exam
in Bihar = 546
Required % = 435 / 546 × 100 = 80

80. (c) In year 2021, no. of candidates who passed the exam
in Bihar = 435
In year 2020 (previous year), no. of candidates who
passed the exam in Bihar = 346
Required increase %

435 346 89100 100
346 346
-

= ´ = ´

9000 26%.
350

= »

81. (c) 82. (b) 83. (b) 84. (a) 85. (a) 86. (c)
87. (c) 88. (d) 89. (c) 90. (b) 91. (c) 92. (d)
93. (b) 94. (c) 95. (c) 96. (d) 97. (d) 98. (b)
99. (c) 100. (b) 101. (a) 102. (c) 103. (d) 104. (a)
105. (d) 106. (b) 107. (b) 108. (c) 109. (d) 110. (d)
111. (c) 112. (c) 113. (b) 114. (d) 115. (b) 116. (c)
117. (d) 118. (c) 119. (a) 120. (a)
121. (a)

• Hiroshima Day is observed on August 6 every year to
promote “peace politics”.

• The day is a reminder of the bombing attack on
Hiroshima and Nagasaki by the United States during
World War II in 1945.

122. (c)
• Katrin Jakobsdottir is the Prime Minister of Iceland
• She is the current prime minister of Iceland since

2017.
• Iceland is a Nordic island country in the North

Atlantic Ocean.
• Capital of Iceland: Reykjavík.

123. (d)
• Popular playback singer KS Chithra has been

conferred with Padma Vibhushan in 2021 for her
contribution to Indian film music.

• She won the Padma Shri, one of the highest civilian
honour in 2005.

124. (b)
• Full form of ASHA is Accredited Social Health

Activist.
• The ASHA scheme is presently in place in 33 states

(except Goa, Chandigarh & Puducherry).
125. (c)

• Payments banks is a new Indian model of banks
conceptualised by the Reserve Bank of India (RBI).

• It can have restricted deposit of `100,000.
126. (a)

• Full form of OTT: Over-The-Top
• It refers to the delivery of content over the internet

rather than through a traditional cable or broadcast
provider.

127. (b)
• China is not a G7 nation
• Group of Seven (G7) is an intergovernmental

organization consisting of Canada, France, Germany,
Italy, Japan, the United Kingdom and the United
States.

128. (c)
• G20 summit of 2020 was hosted by Saudi Arabia

recently.
• G20 summits are to be held in Italy in 2021, Indonesia

in 2022, India in 2023 and Brazil in 2024.
129. (d)

• Monetary Authority of Singapore (MAS) is the
central bank and financial regulatory authority of
Singapore.

• It administers the various statutes pertaining to
money, banking, insurance, securities and the
financial sector in general, as well as currency
issuance.

• It was established in 1971.
130. (e) Ashok Leyland, IndusInd Bank, NxtDigital Ltd and

Cyqurex Systems Private Limited are the part of
Hinduja Groups.

131. (b)
• Rs. 10,000 is the highest denomination note ever

printed by the RBI.
• RBI was established in 1935.
• The first RBI governor was Osborne Smith and First

Indian RBI governor was CD Deshmukh.
132. (d)

• The national council for transgender persons has been
set up by the Centre under the Transgender Persons
(Protection of Rights) Act, 2019 to assist the
community with better facilities.

• The Ministry of Social Justice and Empowerment has
set up this council to cater to the transgender
community with various essential needs.

• The Union Minister of social justice will be the head
of the commission.
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• The commission will have representatives from ten
central departments, five states, and members of the
transgender community.

• The council will also have joint secretary-level
members from various ministries like health, home,
minority affairs, education, rural development, etc.

133. (c) To make the Pradhan Mantri Jan Dhan Yojana
(PMJDY) scheme more attractive, the finance
ministry decided to double the overdraft facility from
Rs 5,000 to Rs 10,000.
The PMJDY was launched by Prime Minister
Narendra Modi on 15 August 2014 as a national
mission for financial inclusion to ensure access of
financial services like bank accounts, insurance and
pensions to the masses.

134. (a) If two parallel lines are drawn on the front part of a
cheque, it is called a ‘Crossed’ Cheque. In this type
of a cheque, the payee cannot withdraw money in
cash but money can transfer in payee account. This
type of cheque is endorsable.

135. (b) A minimum yearly deposit of Rs. 500 is required to
open and maintain a PPF account. A PPF account
holder can deposit a maximum of Rs 1.5 lacs in his/
her PPF account (including those accounts where he
is the guardian) per financial year. There must be a
guardian for PPF accounts opened in the name of
minor children. Parents can act as guardians in such
PPF accounts of minor children. Any amount
deposited in excess of Rs 1.5 lacs in a financial year
won’t earn any interest. The amount can be deposited
in lump sum or in a maximum of 12 installments per
year.
The current interest rate will be 7.1% and effective
from April 2020 to June 2020.

136. (b) Brazilian mathematician Dr Carolina Araujo was
awarded the ‘Ramanujan Award for Young
Mathematician of the year 2020’ at a ceremony
organized through video conference by the
Depar tment of Science and Technology on 9
December 2020. His scope focuses on ‘Birational
Geometry’, which aims to classify and describe the
structure of algebraic varieties. He is a mathematician
of the Institute for Pure and Applied Mathematics
(IMPA) of Rio de Janeiro (Brazil).

137. (d)
• The Hornbill Festival is celebrated every year in the

Naga Heritage village of Kisama, Nagaland.
• The festival coincides with the Statehood Day of

Nagaland which is observed on December 1.
• It is tourism promotional extravaganza to revive,

protect and preserve the richness and uniqueness of
the Naga heritage. It is also called as the ‘Festival of
Festivals'.

138. (b)

139. (a)
• Bharat Sanchar Nigam Limited (BSNL) in

partnership with the State Bank of India (SBI) has
launched a Unified Payments Interface (UPI) based
payment platform, Bharat InstaPay to enable all types
of channel partners of BSNL to digitize their payment
transactions on a round the clock basis/ real- time
basis.

• In particular it will help the prepaid sellers to buy
the services immediately for sale.

• It will improve BSNL’s credibility towards partners,
& will help in growth of partners’ business at a faster
pace.

140. (b)
• India’s first seaplane service was started in Gujarat

from 31 October on the birth anniversary of Sardar
Vallabhbhai Patel.

• It connects Sabarmati Riverfront in Ahmedabad to
the Statue of Unity in Kevadia.

• The service has been operated by Spicejet Airlines.
141. (a) The full form of MSP is given in the first line of the

passage and it is minimum support prices. Hence,
option A is correct.

142. (d) According to Census 2011, Urban Distribution
Persons (in %):

• Rural: 68.84 %
• Urban: 31.16 %

143. (a) The Full form of FCCB is Foreign currency
convertible bonds FCCB is a simple way traversed
by several companies to aggregate their capital.

144. (c) The maximum deposit allowed in India Post Payment
Bank (IPPB) is Rs. 1 lakh.
According to the guidelines, payments banks can
open small savings accounts and accept deposits of
up to Rs.1 lakh per individual customer and provide
remittance services.

145. (d) There will be a uniform premium of only 2% to be
paid by farmers for all Kharif crops and 1.5% for all
Rabi crops. In case of annual commercial and
horticultural crops, the premium to be paid by farmers
will  be  only  5%.  The premium rates  to  be  paid  by
farmers are very low and balance premium will be
paid by the Government to provide full insured
amount to the farmers against crop loss on account
of natural calamities.

Objectives
• To provide insurance coverage and financial support

to the farmers in the event of failure of any of the
notified crop as a result of natural calamities, pests
& diseases.

• To stabilise the income of farmers to ensure their
continuance in farming.

• To encourage farmers to adopt innovative and modern
agricultural practices.
To ensure flow of credit to the agriculture sector.
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146. (c) Since 2010, International Tiger Day is celebrated on
29 July every year. It is an annual celebration to raise
awareness about tiger conservation.
On 29 July 2019, Tiger Census Report 2018 was
released which numbered the total tigers as 2,967
which is 75% of the total tigers in the world. Madhya
Pradesh in India accounts for largest tiger state.

147. (d) Former RBI governor Urjit Patel has authored a book
titled ‘Overdraft: Saving the Indian Saver’. The book
will be published by HarperCollins India.

148. (b) 149. (d) 150. (b) 151. (a) 152. (c) 153. (e)
154. (a) 155. (c) 156. (c) 157. (c) 158. (e) 159. (d)
160. (a)
161. (c) Refer to the first paragraph, the hint can be drawn

from the lines, Research from the Indiana University
Kelley School of Business found that emotional
intelligence - the ability to understand, use and
manage emotions to relieve stress - may be more vital
to a business' survival than previously thought.
Hence, option (c) is the right answer choice.

162. (c) Refer to the second paragraph, the hint can be drawn
from the lines,
"We found that entrepreneurs benefit much more from
emotional competences than other competencies --
such as IQ -- due to high uncertainty and ambiguity
that comes with the world of entrepreneurship and
even more applicable in a crisis," Hence, option (c)
is the right answer choice.

163. (e) Refer to the second paragraph, the hint can be drawn
from the lines,
"Being an entrepreneur is not a 'traditional workplace
setting.' If you are an entrepreneur, you know that
managing your business can often feel like you are
screaming alone on an emotional rollercoaster,"
Stevenson said.
Hence, option (e) is the right answer choice.

164. (e) Refer to the third paragraph, the hint can be drawn
from the lines,
The extreme nature of this setting makes one's ability
to manage emotions and social connections critically
more important, especially so during times of major
disruption and crisis," Stevenson added. According
to the recent US Bureau of Labor Statistics, about a
fifth of all new businesses fail within their first two
years and nearly half are shuttered within five years.
Hence, option (e) is the right answer choice.

165. (b) Refer to the fourth paragraph, the hint can be drawn
from the lines,
The research found that those with higher emotional
intelligence are better able to be self-motivated and
have higher social skills - even under more normal
circumstances.
Hence, option (b) is the right answer choice.

166. (e) Refer to the fifth paragraph, the hint can be drawn
from the lines,
These skills are important for developing business
networks, which can aid in signaling legitimacy and
in acquiring resources," researchers wrote. "These
skills can enhance creativity and opportunity
recognition; aid decision making in emotionally
turbulent situations and enable adaptive responses
to unpredictable events," researchers further wrote.
Hence, option (e) is the right answer choice.

167. (a) Refer to the last paragraph of the given passage, the
hint can be drawn from the lines,
The two factors are seldom studied together. "While
IQ is unquestionably the better predictor of job
performance and career success across all jobs and
careers, within the domain of entrepreneurship,
emotional intelligence was the stronger predictor of
success," O'Boyle said.
Hence, option (a) is the right answer choice.

168. (c) Ambiguity: the quality of being open to more than
one interpretation; inexactness.
Enigma: a person or thing that is mysterious or
difficult to understand.
Ignorance:  lack of knowledge or information.
Transparency: the condition of being transparent.
Destitute:  extremely poor and lacking the means to
provide for oneself.
Truism:  a statement that is obviously true and says
nothing new or interesting.
Hence, option (c) is the right answer choice.

169. (b) Empirical: based on, concerned with, or verifiable
by observation or experience rather than theory or
pure logic.
Pragmatic: dealing with things sensibly and
realistically in a way that is based on practical rather
than theoretical considerations.
Absurdity:  the quality or state of being ridiculous or
wildly unreasonable.
Placid:  not easily upset or excited.
Obdurate:  stubbornly refusing to change one's
opinion or course of action.
Indurated: hardened
Hence, option (b) is the right answer choice.

170. (d) Legitimacy: conformity to the law or to rules.
Illegality: The state of being contrary to or forbidden
by law, especially criminal law.
Hence, option (d) is the right answer choice.

171. (b) The correct sequence of the given fragments is
BACD. The sentence after rearrangement is, A
change of scenery, even if it's just moving from one
room in your house to another, combined with
movement helps to clear your mind and help you reset
your focus.
Hence, option (b) is the right answer choice.
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172. (a) The correct sequence of the given fragments is
CABD. The sentence after rearrangement is,
New and established carmakers have many
mountains to climb as they battle to introduce
successful vehicles in an increasingly crowded
marketplace.
Hence, option (a) is the right answer choice.

173. (d) The correct sequence of the given fragments is
CBDA. The sentence after rearrangement is,
It's imperative to try to figure out if you have the
right startup idea before fully committing yourself
and your resources to it.
Hence, option (d) is the right answer choice.

174. (c) The correct sequence of the given fragments is
ADCB. The sentence after rearrangement is,
One of the most prevalent myths when it comes to
sun protection is that you don't need to apply
sunscreen or sunblock on cold or cloudy days.
Hence, option (c) is the right answer choice.

175. (b) The correct sequence of the given fragments is
DBCA. The sentence after rearrangement is,
Be diligent about both scheduling and taking breaks,
as simply putting them on your schedule and
constantly working through them obviously does not
have any benefit.
Hence, option (b) is the right answer choice.

176. (b) Here, the error lies in part (B) of the sentence. 'to'
should be replaced with 'at' to make the sentence c
Look at: to think about a situation or subject carefully,
especially in order to make a decision.
Loot to: to hope or expect to get help, advice etc from
someone
Hence, option (b) is the right answer choice.

177. (d) Here,  the  error  lies  in  part  (D).  'It'  should  be  used
before 'being' as there is a subject of reference given
before every participle but that's not the case here.
Hence, option (d) is the right answer choice.

178. (b) Here, the error lies in part (B) of the sentence. It
should be 'too much' instead of 'much too' to make
the sentence grammatically correct and contextually
meaningful. Hence, option (b) is the right answer
choice.

179. (c) Here, the error lies in part (C). 'to' will be used instead
of 'as' to make the sentence grammatically correct
and contextually meaningful. Hence, option (c) is
the right answer choice.

180. (b) Here, the error lies in part (B) of the given sentence.
Third form of verb of used with 'No sooner had' so it
should be 'concluded' instead of 'conclude' to make
the sentence grammatically correct and contextually
meaningful. Hence, option (b) is the right answer
choice.

181. (d) The correct sequence of the given sentences is
BDAEFC.
Third sentence will be A. Hence, option (d) is the
right answer choice.

182. (e) The correct sequence of the given sentences is
BDAEFC.
Second sentence will be D. Hence, option (e) is the
right answer choice.

183. (b) The correct sequence of the given sentences is
BDAEFC.
Fifth sentence will be F. Hence, option (b) is the right
answer choice.

184. (a) The correct sequence of the given sentences is
BDAEFC.
Fourth sentence will be E. Hence, option (a) is the
right answer choice.

185. (d) The correct sequence of the given sentences is
BDAEFC.
Sixth sentence will be C. Hence, option (d) is the
right answer choice.

186. (b) Proximity: Nearness in space, time, or relationship
Synonyms: adjacency, closeness, contiguity,
immediacy, nearness.
In the II statement, 'aggregated' will be more suitable
instead of 'proximity'. Hence, option (b) is the right
answer choice.

187. (d) Predate: Exist or occur at a date earlier than
(something), (of an animal) act as a predator of; catch
and eat (prey)
Synonyms: antecede, antedate, forego, precede, pre-
exist
In statement I, 'ordinance' will be more suitable
instead of 'predate'. Hence, option (d) is the right
answer choice.

188. (e) Vagueness: Lack of certainty or distinctness
Synonyms: fuzzy, indefinite, inexplicit, muzzy,
unclear
Hence, option (e) is the right answer choice.

189. (c) Volatile: Liable to change rapidly and unpredictably,
especially for the worse
Synonyms: capricious, changeable, changeful, fickle,
flicker
In statement III, 'certainty' will be more suitable
instead of 'volatile'. Hence, option (c) is the right
answer choice.

190. (a) Ambiguity: The quality of being open to more than
one interpretation; inexactness
Synonyms: ambiguousness, darkness, equivocalness,
equivocation, inscrutability
In the statement II, 'contemplation' will be more
suitable instead of 'ambiguity'. Hence, option (a) is
the right answer choice.

191. (c) Vigilance: the action or state of keeping careful watch
for possible danger or difficulties.
Wariness: caution about possible dangers or
problems.
Distracted: unable to concentrate because one is
preoccupied by something worrying or unpleasant.
Hence, option (c) is the right answer choice.
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192. (e) Reiterate: say something again or a number of times,
typically for emphasis or clarity.
Hence, option (e) is the right answer choice.

193. (b) Welter: move in a turbulent fashion.
Stormy: characterized by turmoil and unpredictable
outbursts
Unstable: likely to change or fail; not firmly
established.
Hence, option (b) is the right answer choice.

194. (d) Undergird: secure or fasten from the underside,
especially by a rope or chain passed underneath.
- provide support or a firm basis for.
Hence, option (d) is the right answer choice.

195. (d) Resilience: the capacity to recover quickly from
difficulties; toughness.
Pliability: the quality of being easily bent; flexibility.
Rigidity: inability to be changed or adapted.
Hence, option (d) is the right answer choice.

196. (b) Only starter ii can be used to form a single sentence
from the two or three statements given while implying
the same meaning as expressed in the statement
sentences. The sentence thus formed is:

ii. Given Mr. Biden's commitment to put human rights
'at the centre of Foreign Policy', Human rights is the
next area where India and the U.S. could be at odds
both on the bilateral front and in the region.
Hence, option (b) is the right answer choice.

197. (e) Both i and ii starters can be used form a single
sentence from the two or three statements given while
implying the same meaning as expressed in the
statement sentences. The sentences thus formed are:

i. While Washington has stepped up sanctions and
called for the Suu kyi-NLD government to be
reinstated, New Delhi has spoken only for the "rule
of law" and democratic processes to be upheld.

ii. Although Washington has stepped up sanctions and
called for the Suu kyi-NLD government to be
reinstated, New Delhi has spoken only for the "rule
of law" and democratic processes to be upheld.
Hence, option (e) is the right answer choice.

198. (d) Both i and iii starters can be used form a single
sentence from the two or three statements given while
implying the same meaning as expressed in the
statement sentences. The sentences thus formed are:

i. Besides being an opportunity to ponder about the
problems that we face in research, National Science
Day, on February 28, is a moment to celebrate the

progress that India has made in science and
technology research.

iii. An opportunity to ponder about the problems that
we face in research, National Science Day, on
February 28, is a moment to celebrate the progress
that India has made in science and technology
research.
Hence, option (d) is the right answer choice.

199. (c) Both ii and iii starters can be used form a single
sentence from the two or three statements given while
implying the same meaning as expressed in the
statement sentences. The sentences thus formed are:

ii. Withdrawing the Education Ministry's ill-thought-
out guidelines for holding online conferences,
seminars and training sessions, the Centre has saved
itself from continuing embarrassment at the
international level.

iii. Saving itself from continuing embarrassment at the
international level, the Centre has withdrawn the
Education Ministry's ill-thought-out guidelines for
holding online conferences, seminars and training
sessions.
Hence, option (c) is the right answer choice.

200. (c) Both i and ii starters can be used form a single
sentence from the two or three statements given while
implying the same meaning as expressed in the
statement sentences. The sentences thus formed are:

i. Even though it was quite obvious that the claim of a
global conspiracy behind the unsavoury and violent
incidents that took place on January 26 in New Delhi
lacked credence, the order of bail is still notable for
subjecting the specific charges to strict judicial
scrutiny at a fairly early stage.

ii. While it was quite obvious that the claim of a global
conspiracy behind the unsavoury and violent
incidents that took place on January 26 in New Delhi
lacked credence, the order of bail is still notable for
subjecting the specific charges to strict judicial
scrutiny at a fairly early stage.
Hence, option (c) is the right answer choice.

201. (b) 202. (d) 203. (b) 204. (d) 205. (d)
206. (e) 207. (e) 208. (e) 209. (a) 210. (e)
211. (c) 212. (b) 213. (d) 214. (d) 215. (a)
216. (a) 217. (a) 218. (b) 219. (b) 220. (b)
221. (c) 222. (a) 223. (d) 224. (d) 225. (d)
226. (b) 227. (a) 228. (a) 229. (a) 230. (d)
231. (c) 232. (a) 233. (a) 234. (b) 235. (b)
236. (d) 237. (d) 238. (b) 239. (d) 240. (c)


